
92.  EVIDENCE FOR CREATION in 6 DAYS in 4074 BC 
 

Bible Reading:  Genesis 1 
Sixteen Bible passages say that God created life on earth: 
1. "In the beginning God created the heaven and the earth".  Genesis 1:1. 
2. "So God created man in his own image, ... male and female".  Genesis 1:27. 
3. "The Lord said, I will destroy man whom I have created ..."  Genesis 6:7. 
4. "The day that God created man upon the earth".  Deuteronomy  4:32. 
5. "Lift up your eyes on high, and behold who hath created these things, that bringeth out 

their host by number:  he calleth them all by names by the greatness of his might ....."  
Isaiah 40:26. 

6. "Hast thou not known? Hast thou not heard, that the everlasting God, the Lord, the 
Creator of the ends of the earth, fainteth not, neither is weary?  There is no searching of 
his understanding."  Isaiah 40:28. 

7. "I have created him (humans) for my glory".  Isaiah 43:7. 
8. "I have made the earth, and created man upon it".  Isaiah 45:12. 
9. "Hath not one God created us?"  Malachi 2:10. 
10. "For in those days shall be affliction, such as was not from the beginning of creation, 

which God created unto this time".  Mark 13:19. 
11. "But from the beginning of the creation God made them male and female."  Mark 10:6. 
12. "For by him were all things created, that are in heaven and earth......" Colossians  1:16. 
13. "For the invisible things of him from the creation of the world are clearly seen, being 

understood by the things that are made, even his eternal power and Godhead;  so that 
they are without excuse."  Romans 1:20. 

14. "Who changed the truth of God (creation) into a lie (evolution), and worshipped and 
served the creature (himself) more than the Creator (God), who is blessed for ever.  
Amen."  Romans 1:25. 

15. “God, who created all things by Jesus Christ:”  Ephesians 3:9. 
16. “For by him were all things created, that are in heaven, and are in earth….all things 

were created by him and for him:”  Colossians 1:16. 
17. "Thou art worthy, O Lord, to receive glory and honour and power:  for thou has created 

all things, and for thy pleasure they are and were created."  Revelation 4:11. 
18. "Remember now thy Creator in the days of thy youth, while the evil days come not ....."  

Ecclesiastes 12:1. 
 
Aim:  God created man by intelligent design in 6 days 6000 years ago.  Man did not evolve 
by unintelligent random processes over millions of years.  We are accountable to God as 
our Creator. 
Most schools teach that evolution is right.   
What scientific evidence is there for creation by God in 6 days 6000 years ago? 
 
1. EVIDENCE  FOR  A  YOUNG  EARTH. 
For evolution to be remotely possible, many millions of years are needed.  If it can be 
shown that the earth is young (about 6000 years old), and not millions of years old (as 
required by evolution), then evolution would not have enough time to happen. Consider 
these examples pointing to a young earth: 
 
I.    EVIDENCE  FROM  STARS 
1. Galaxy star clusters (spirals with billions of stars) move so rapidly that they would not 

stay together if the universe were very old. 

2.  Large Stars. Some stars are so large that they radiate energy 10,000 to 1 million times 
more rapidly than our sun. They could not have contained enough hydrogen to radiate 
this fast for millions of years, because their initial mass would have been too big. These 
O and B class stars, and P Cygni stars could not continue atomic fusion longer than 
50,000 to 300,000 years. 

3.  Abundant Hydrogen in stars. Hydrogen in stars is continually being converted into 
Helium. Hydrogen cannot be made from other elements. Fred Hoyle states that, if the 
universe were as old as Big Bang theorists think, then there would be little hydrogen left, 
as it would be converted to Helium by now. Spectra from stars reveal abundant 
hydrogen in stars.This implies a young universe. 

 
II.      EVIDENCE  FROM  OUR  SOLAR  SYSTEM 
4.    Solar shrinking. Since 1836, over 100 different observers at the Greenwich 

Observatory and US Naval Observatory have measured the sun’s diameter to shrink 
at 0.1% per century or 5 feet per hour. At this rate, 50,000 years ago the sun would 
have been so large as to boil earth’s oceans, making life on earth impossible. 100,000 
years ago our sun would have been twice as large.  

5. Rare Solar Neutrinos.  In 1968 it was discovered that our sun emits hardly any 
neutrinos. This lack of solar neutrinos irrefutably points to a recently created sun. (A 
neutrino is an uncharged particle of no or very little mass, travelling at the speed of 
light, and is produced in the sun when protons and electrons react to form neutrons.) 

6. Comets elliptically orbit the sun and are thought to be as old as the sun. As comets 
orbit the sun, they lose some of their water and gases from the sun’s heat, gravity and 
tail formation. The tail consists of material driven away from its head by solar energy. 
Some comets regularly seen in the 19th Century have broken up and vanished, or 
plunged into the sun. All comets should self-destruct in a short ime, less than 10,000 
years. There should be no comets left. Evolution cannot explain comets in an old solar 
system. Comets are young objects created in a young solar system.  

7. Solar Wind. As the sun’s radiation flows outward, it applies an outward force on very 
small particles orbiting the sun. All particles smaller than 100,000th of a centimetre 
should have long ago been ‘blown out’ of our solar system if it were billions of years 
old. Yet satellite studies show that these small particles are abundant and still orbiting 
the sun. This implies a young solar system. 

8.  Solar Drag. (Poynting-Robertson Effect). Small and medium size rocks circling the 
sun are gradully drawn into the sun by gravity. The sun acts like a giant vacuum 
cleaner, sweeping up about 100,000 tons of micrometeoroids each day. Each particle 
absorbs and re-radiates energy from the sun, causing them to slow down and fall into 
the sun. At today’s rate, our sun would have sucked in most solar dust particles larger 
than 100,000th of a centimetre in less than 10,000 years, and all of it within 50,000 
years. Yet the abundance of these particles, with no known source of replenishment, 
points to a young solar system. 

 
III.    EVIDENCE  FROM  OTHER  PLANETS 

9.   Meteoroids bombarding Saturn’s rings would have destroyed them in less than 
10,000 years. (W T Brown, In the Beginning, p 18). 

10.    Solid Ammonia in Saturn’s rings, with a higher vapour pressure than ice, could not 
survive long without vaporising into space. Young rings imply a young Saturn.  

11.    Jupiter’s Moons. If they evolved, they should be physically alike, having the same 
amount of volcanoes and impact craters, but this is not so. Evolution claims that all 
planets were molten 5 billion years ago and volcanic activity stopped 4 billion years 



ago as they cooled. The moons Ganymede and Callisto have no volcanoes and many 
impact craters.  Europa has no volcanoes and no impact craters. Io has 7 active 
volcanoes and no impact craters. Titan has volcanoes. 

12.    Jupiter, Uranus and Neptune (4) have rings, which could not survive 4 billion years. 
Jupiter’s intense magnetic field radiation would sweep out its rings. (Bradford Smith, a 
Voyager Scientist). 

13.    Venus’ high temperature and little erosion, imply a young age for Venus. If Venus 
was 4 billion years old, its dense atmosphere should have worn away its craters. 

14.    Mars has little erosion and some water. Mars has many sharp edged craters and 
volcanoes, as well as month-long dust storms. Several thousand years of this weather 
would have seriously eroded these edges and its strong colour differences. Powerful 
solar UV radiation would have long ago broken down the small amount of water, 
releasing the oxygen into the atmosphere and hydrogen into space. Evolution predicts 
no surface water and much atmospheric oxygen, but measurements show the 
opposite being some surface water and very little atmospheric oxygen. 

 
IV.   EVIDENCE  FROM  OUR MOON 
15.   Lunar Gases. Argon 36 and Krypton 84 inert gases on the moon came from the sun 

as ‘solar wind’. Based on today’s solar wind intensity, today’s amount of these gases 
would be built up in under 10,000 years. 

16.   Lunar Recession. Due to tidal friction, the moon is moving away from earth at about 4 
cm per year (1 ½ inches). At this rate, 5 billion years ago the moon would have been 
200,000 Km closer. 

17.   Lunar quakes, lava flows and gas emissions show that the moon is not a cold, dead 
body. It is still adjusting to inner stresses and is not yet in thermal equilibrium. If it were 
5 billion years old, it would not show such thermal activity. 

18.   Lunar Isotopes. Short-lived Uranium 236 and Thorium 230 were found in moon rocks. 
If the moon were 5 billion years old, these isotopes would long ago have decayed to 
lead. But instead they are relatively abundant in moon rocks. Thorium 230 has a half-
life of 75,400 years, and Uranium 236 of 23 million years. 

19.    Moon dust comes from meteorite dust and from solar radiation breaking surface 
rocks to dust at a rate of 3/10,000ths of an inch per year. The one-eighth of an inch of 
moon dust implies a young moon, not a 5 billion year old moon. 

 
V.    EVIDENCE  FROM  EARTH’S  ATMOSPHERE 
20.   Atmospheric Helium comes from radioactive decay of Uranium and Thorium as they 

emit alpha particles (Helium nuclei), as well as alpha particles from the sun. Although 
hydrogen can escape earth’s atmosphere, Helium cannot. 

                 Years to reach present Helium level = Present mass of Helium 
                                                                              Rate of Helium formation each year 
                                                                           = 3.5 x 1015 grams Helium 
                                                                              3 x 1011 grams Helium formed p.a. 
                                                                           = 11,600 years to reach present levels. 

If earth was 4 billion years old, there would be 400,000 times more Helium in the 
atmosphere. Where is it? This date of 11,600 years is closer to the Biblical age of 
earth of 6,000 years. 

 
 
 

VI.   EVIDENCE  FROM  METEORITES 
21.   Meteorite Dust. 20 million meteors enter earth’s atmosphere every 24 hours. These 

add 25 tons weight to earth each day. Meteorite mass added to the earth in 4 billion 
years 

                 = 25 tons x 365 x 4 x 109 tons 
                 = 3.65 x 1013 tons added. 

Surface area of earth = 196,800,000 square miles. 
Mass of meteorite dust per square mile = 3.65 x 1013 tons 

                                                                            1.96 x 108 sq miles 
                                                                         = 186,000 tons per sq mile 
         Where is all this meteorite dust? It is not there. This implies a young earth. 
22.   Meteorite Craters only occur on the earth’s surface, never being found in the rock 

strata. If earth were 5 billion years old, we would find many meteorite craters in the 
sedimentary rock strata, but we don’t. Thus all meteorites which have struck the earth, 
have hit it in the last 5000 years.  

23.   Meteorites and Tektite Showers are only found at or close to the earth’s surface, 
never in the deeper sedimentary rock strata. If earth were ancient, many would be 
found all through the geological column. ‘No meteorites have ever been found in the 
geological column’ (Fred Whipple, ‘Comets’ in The New Astronomy, p 207). This 
points to a young earth with sedimentary strata deposited recently and quickly.  

 
VII.  EVIDENCE FROM THE GLOBE 
24.   Earth’s Magnetic Field is decaying exponentially, according to measurements over 

170 years. 
Authority Year Magnetic Moment (amp/m2) x 

1022 
Gauss 1835 8.558 
Adams 1845 8.488 
Adams 1880 8.363 
Vestine 1905 8.291 
Dyson-
Furner 

1922 8.165 

USC & GS 1945 8.066 
Leaton 1965 8.013 

This points to a half-life of 1,400 years. On this basis, Earth’s magnetic field 7,000 
years ago would have been 32 times stronger than it is today. 20,000 years ago it 
would have dissolved the earth. 1 million years ago it would have had greater 
magnetism (10215 Tesla) than all objects in the universe. It would appear that the 
earth could not be more than 6,000 to 7,000 years old. In 1979 NASA launched a 
satellite ‘Magsat’ to measure earth’s magnetic field. The overall intensity of earth’s 
field was found to be declining at a rate of 26 nanoteslas per year, with a half-life of 
just 830 years. Extrapolation shows that the field strength should reach zero in 1,200 
years. (Creation Research Quarterly, June 1981, p 40). “In the next two millenia, if the 
present rate of decay is sustained, the dipole moment of the (earth’s magnetic) field 
should reach zero.” (Scientific American, December 1989). Since a past stronger 
magnetic field deflected more cosmic rays, this would have changed the rate of 
Carbon-14 production in the past, giving wrong Carbon-14 dates. 



VIII.  EVIDENCE  FROM  BENEATH  EARTH’S  SURFACE 
25.    Oil Well Pressure. When oil drillers first penetrate oil wells, oil gushes out because 

the oil and gas are under great pressure from surrounding rocks. Sedimentary rocks 
surrounding the oil wells are porous. Studies of these show that the oil would seep out 
before 100,000 years, but this has not happened. This great oil pressure argues 
strongly against millions of years age for oil wells, and implies an age for oil of around 
10,000 years. Oil, coal and gas were formed during the Great Flood 4,400 years ago 
(in 2418BC). 

26.    Lack of Anciently Destroyed Oil Reservoirs. If earth were very old, we would find 
empty oil reservoirs, where all the oil had leaked out, leaving only residues which 
would show in drilling cores. Such locations are never found, thus showing that all the 
world’s oil reserves were formed recently. 

27.    Earth’s Molten Interior. Deep within the earth, the rocks are molten. The earth is 
slowly cooling from the surface inwards according to Stefan’s Law of Radiation.  Lord 
Kelvin in 1889 calculated that the earth could not be billions of years old because of 
earth’s known rate of cooling, the existing temperature gradient in the earth, and the 
assumption that the earth could not have been hotter than “white hot” initially.“Popular 
Lectures and Addresses”(London: MacMillan, 1889, p.415). 

         If earth were billions of years old, it would have cooled far more than it now has, even 
if we assume a radioactively generated heating mechanism. (W T Brown, In the 
Beginning, p 17). 

28.    Zircon/Lead Ratios. Radiogenic lead slowly leaks out of Zircon crystals at normal 
temperatures, but leaks out more rapidly as the temperature increases. Careful study 
of zircon crystals from core samples 15,000 feet deep at 313oC in New Mexico show 
that almost no radiogenic lead had leaked from that super-heated zircon. This strongly 
points to a young earth. 

29. Radiohaloes shorten geologic ages of millions of years to a few thousand years. 
 Radiohaloes are colour rings around microscopic radioactive minerals in rock crystals.   

“Squashed” Polonium-210 radiohaloes indicate that Jurassic, Triassic and Eocene 
formations in the Colorado Plateau were deposited within months of one another, not 
from 225-255 million years apart, as evolution claims. 
“Orphan” Polonium-218 radiohaloes, having no evidence of their mother elements, 
imply either instant creation, or drastic changes in radioactive decay rates.  

 
IX.    EVIDENCE  FROM  EARTH’S  SURFACE 
30.    Topsoil accumulation. The average topsoil depth worldwide is 8 inches. Allowing for 

losses due to erosion, calculations show that it takes 300 to 1,000 years to accumulate 
one inch of topsoil. On this basis the earth would be about 6,000 to 8,000 years old.  

31.    Niagara Falls erosion is about 7 feet per year. From their first mapping in 1678 to 
1842, the water wore away the top of the falls at a rate of 7 feet per year. Since the 
gorge is 7 miles long, 

                 the age of the Falls = 7 miles x 5280 feet/mile  = 5,280 years (approximately) 
                                                        7 feet per year 

This is close to the time of Noah’s Flood 4,400 years ago, especially since the Falls 
would have eroded faster just after the Flood. For other large waterfalls, the cut 
distances and rates of erosion agree well with the Falls’ origin 4,400 years ago.  

 
 
 
 

X.     EVIDENCE  FROM  THE  OCEANS 
32.    Coral Growth rates accurately measured under favourable growth conditions, show 

that no known coral formation is older than 3,500 years. (A A Roth, ‘Coral Reef 
Growth’, Origins, Vol 6, No.2, 1979, p 88). 

33.    Sea ooze. As fish and ocean plants die, they fall to the bottom and form an ooze, or 
very soft mud on the ocean floor at a rate of one inch every 1,000-5,000 years. 
Measuring the depth of this ooze indicates a young earth.  

34.    Ocean Concentrations of elements from rivers and springs. If we assume, as 
evolutionists must, that the oceans were 100% freshwater (0% mineral content) at the 
beginning of earth’s history, and knowing today’s amount of each element in the 
oceans, we may calculate how long each element took to reach today’s concentration 
level. Of the 51 main elements in sea water, 20 could have accumulated to today’s 
level in 1,000 years; 9 other elements in 10,000 years, and 8 others in 100,000 years. 
For example, Lead (2,000 years); Silicon (8,000 years); Vanadium (10,000 years); 
Cobalt and Nickel (18,000 years); Caesium (40,000 years); Bismuth (45,000 years); 
Mercury (42,000 years); Copper (50,000 years); Tin (100,000 years); Sodium (260 
million years). Sodium gives the longest accumulation time, so by this method, earth 
could be no older than 260 million years.  

35.    Ocean sediment. There is not enough sediment on the sea floors for earth to be 5 
billion years old. Rivers add about 28 billion tons of sediment to the oceans each year. 
If this had occurred for 1 billion years, the continents would have eroded away many 
times. There would be a layer of sediment on the ocean floor at least 60 miles thick. 
However, the average depth of sediment on the ocean floor is about 800 metres, and 
the continents have not eroded once yet. The Tasman Sea off Australia is not part of a 
subduction zone of ocean floor being pushed deep into the earth. Subduction zones 
could not dispose of 10% of incoming sediment. Hence, sea floors seem young.  

36.    Juvenile water coming out of volcanoes has never been in the oceans before. About 
1 cubic mile of water is added yearly. 340,000,000 cubic miles of water are on earth's 
surface. 

 Question: How many years would it take to accumulate 340 million cubic miles of 
water? 

 Answer: 340 million years. This implies that there were no oceans 340 million years 
ago, the supposed age of fishes.  So how could life have evolved in the oceans 2,000 
million years ago if there were no oceans then? (Source:  H. Morris, Scientific 
Creationism, p.156). 

37.    Delta Filling.  The Mississippi river dumps 
about 300 million cubic metres of sediment 
into the Gulf of Mexico each year.  If this 
river were millions of years old, the Gulf 
would have been filled long ago.  Since the 
delta grows about 250 feet per year, it’s 
age calculates to about 4000 years, very 
close to the Flood 4,400 years ago. 
Source: B.Allen, Geologic Age of 
Mississippi, CRS Vol. 9, p.96-114. 

 
 
 
 
 



XI.   EVIDENCE  FROM  LIVING  THINGS 
38.   Tree Rings. The oldest living things are Bristlecone pines growing in Eastern Nevada, 

aged about 4,600 years old (sometimes producing 2 growth rings per year, so their 
age would be less), and Sequoia Gigantea in the Sierra Nevada Mountains, which are 
never older than about 4,000 years. These giant redwoods have no known enemies, 
and never have any dead trees among them. Unless man cuts them down, they never 
seem to die. 17 Bristlecone pines are dated about 4,000 years old. Since the Flood 
occurred about 2,418 BC, this implies that: 
a)  all the pre-Flood Sequoias and Bristlecones were wiped out by the Flood, and 
b)  there is no record of any living tree older than the Flood. 
Question: If evolution were true, why do we find none of these trees dated 15,000 
years or older? 
Answer: Because evolution is false. These old trees were planted just after the Flood 
in 2418 BC. 

39.    Dinosaur DNA is so rare that the first sample was discovered in 1995.  DNA 
decomposes soon after the specimen dies.  There is no known way for DNA to 
survive for 70 million years. 
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XII.   EVIDENCE  FROM  ANCIENT  CIVILIZATIONS  

40.    Man’s Recorded History. 
If man has lived on earth for 1 million years, why do we only find human records going 
back to about 3500 BC?  This cuneiform tablet is the oldest human writing from 
Sumeria. When human records first appear, they show man to be highly developed 
with a sophisticated civilisation.  This agrees better with a creation date of 4074 BC 
than with evolution’s 1 million year history of man.  Why did man do nothing for 1 
million years? Because he has only been here for 6,000 years. 

41.   Bible Records.  The Bible is valid history and should not be dismissed.  It consistently 
verifies authentic archaeological research.  If the Bible’s post Flood dates have been 
confirmed as accurate by cross checking them with Assyrian, Babylonian, Egyptian 
and solar eclipse records, then surely the same accuracy must apply to Biblical dates 
from Creation (4074 BC) to the Flood (2418 BC) in Genesis 1-10. 

42.   Astronomical Records.  Because of the rarity of solar eclipses at any given location, 
and because astronomers can date every solar eclipse going back thousands of 
years, when an ancient tablet or manuscript mentions a solar eclipse, we can 
accurately date that record, and other events associated with it in other countries.  

Before 2250 BC, we have no records of any solar eclipse being seen by man. “The 
earliest Chinese date which can be assigned with any probability is 2250 BC, based 
on an astronomical reference in the Book of History”. (Ralph Linten, The Tree of 
Culture (1955), p 520). 

43.   Writing. The oldest writing is a Sumerian pictograph written on clay tablets dated 
about 3500 BC. 

44.   Pyramids.  Do evolutionists expect us to believe that man sat around for 1 million 
years doing nothing, building nothing, showing no signs of intelligence or engineering, 
then suddenly design and build highly technical pyramids in Egypt, the oldest being 
the step Pyramid for King Zoser in about 2600 BC? This date closely matches the 
Biblical Flood date of 2418 BC.  This confirms Bible chronology better than 
evolutionary speculation and guesswork. 

Conclusion:  The evidence for creation dating is clear and scientific, being confirmed from 
many scientific disciplines and archaeological records. 

 
2. REFUTING  THE  GEOLOGICAL  COLUMN  TIMETABLE 
 The geological column is one of the most popular evidences used to demonstrate 

evolution. It seeks to prove evolution of life from simple to complex forms over 2 billion 
years.  The chart below is supposed to represent the history of life in fossil format.  
Nowhere in earth do we find the complete sequence of fossils or strata as shown in this 
chart.  The only real evidence for this chart is on paper and in some geologist’s minds. 

           
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 Question:  How do evolutionists/geologists construct this time scale? 
 Answer: They start with the assumption that “since life is here, life has evolved”.   
 Any simple fossil is dated early, and any complex fossil is dated later. 
 Question:  How are ages assigned to rock strata? 
 A. 1.  They approximate ages by spreading fossils over the total time assumed for their 

evolution. 
  2.  Radioactive datings and age estimates based on strata thicknesses assign more 

specific ages. 
 Strata thicknesses are dated on the assumption that rock strata were laid down in 

the past at the same rate as today, about one foot every 5000 years. 
 A worldwide Flood of Noah’s kind would disprove this assumption.  Most organisms 

on dying are not fossilised because they rot bacterially or are eaten by scavengers.  
For example, consider the millions of North American bison killed by Buffalo Bill and 
others.  Where are their fossils?  Nowhere, because they were not suddenly buried 
by a catastrophe, but were eaten by scavengers, or rotted, decayed and dissipated.  
Dust and leaves falling over a carcass will not preserve it.   

Evolutionists follow this faulty circular reasoning: 
1. Assume evolution. 

 2. Datings that fit are accepted, those datings not fitting are rejected. 
 3. Arrange rock strata on a chart so organisms progress from simple to complex. 
 4. Contradictions to “Correct” order are explained away. 
 
3. FOSSILS and ARTEFACTS of Early Man that Contradict Evolutionary Succession. 
1) Guadeloupe Woman was discovered in 1812 in the Caribbean island of Guadaloupe, 

in a 1 mile long limestone formation that evolutionists date as 28 million years old. This 
is a full 25 million years earlier than when man is supposed to have appeared on earth. 
When this 2 ton limestone block containing Guadeloupe woman was first exhibited in 
the British Museum in 1812 it was shown as proof of the Genesis Flood. In 1881 it was 
transferred to the museum’s basement. 

2) Calaveras skull found mineralised in 1876. It was found 130 feet below ground in the 
Sierra Nevada mountains of California.  The skull was authenticated by a physician as 
equivalent to modern man and certified by an evolutionist (J.D. Whitney, Chief of the 
California Geological Survey) as having been found in Pliocene Stratum (supposedly 2-
5 million years old).  This disproves evolutionary dating of rock strata and of ancient 
man. 

3) Castinedolo skull found in Castinedolo, Italy is perfectly human and found in Pliocene 
strata (supposedly 2-5 million years old). 

4) Two Moab skeletons were found in Cretaceous rock (at Moab, Utah) supposedly 
dated as 70-135 million years old. The University of Utah Anthropologist, J.P. Marwitt 
certified them as definitely Homo Sapiens. (Creation Res. Soc. Qtly, Sept 1973, p.110). 
Technicians at the University of Arizona dated the skeletons by the nitrogen retention 
test as under 5000 years old. F.A. Barnes in “The Case of the Bones in Stone” in 
“Desert” 38 (Feb. 1975,p.36) describes two 100 million year old human skeletons, 
buried under 15 feet of rock which was bulldozed off. Their bones were still together at 
the joints, and stained green by copper salts from the surrounding rocks.  In turn, the 
surrounding rocks were stained by the organics from the bodies. Evolution dates this 
rock and hence this human skeleton at 97 million years before humans supposedly 
appeared. 

5) Freiberg skull found in brown coal in 1842, displayed in the Mining Academy in 
Freiberg (Saxony).  (Otto Stutzer, Geology of Coal, (1940), p.271). 

6) Gold Chain in Coal.  In 1891, Mrs S.W. Culp in Morrisville, Illinois, dropped and broke 
a chunk of coal to find embedded in it a 10 inch, 8 carat gold chain. Since evolutionists 
claim that coal was deposited in the Carboniferous period (300 million years ago), and 
man supposedly appeared 3 million years ago, they have the problem of a man-made 
gold chain dated 300 million years before man appeared on earth. 
Question:  How can a man made article exist before man appeared?   

        Answer: Evolution never happened, man is recently created 6000 years ago, the 
Geological Column and radiometric dating methods are wrong.  (Morrisville, Illinois 
Times, June 11, 1891). 

7) Iron Pot in Coal. Professor W. Rusch has 
reported an iron pot encased in coal dated by 
evolutionary standards at 300 million years old. 
(Creation Research Quarterly (March, 1971) 
p.201).  
The pictured affidavit reads as follows: 
 
Sulphur Springs, Arkansas, November 27, 1948. 
While I was working in the Municipal Electric Plant in Thomas, Okla. in 1912, I came 
upon a solid chunk of coal which was too large to use.  I broke it with a sledge 
hammer.  This iron pot fell from the center, leaving the impression or mold of the pot in 
the piece of coal.  Jim Stall (an employee of the company) witnessed the breaking of 
the coal, and saw the pot fall out.  I traced the source of the coal, and found that it 
came from the Wilburton, Oklahoma Mines. 
       Frank J. Kenwood  
Sworn to before me, in Sulphur Springs, Arkansas this 27th day of November, 1948. 
       Julia L (?) 

8) Child’s Spoon.  In 1937, Mrs Myrna Burdeck and her mother found a child’s spoon in 
soft Pennsylvania coal.  (Creation Research Quarterly, June 1976, p.74). 

9) Metal Bowl.  An intricately carved metal bowl was blasted out of solid pudding stone.  
(Scientific American, June 5, 1852). 

10) Bell Shaped Silver Vessel.  Workmen blasting near Dorchester, Massachusetts in 
1851, found a bell shaped metal vessel with inlaid silver floral designs embedded in 
solid rock.  (Scientific American, June 1851). 

11) Iron Nails. 
 a) Sir David Brewster found an iron nail in Cretaceous rock (65-144 million years ago) 

in the Kingoodie Quarry, North Britain in 1845.  The last inch of the nail was embedded 
in the stone.  (David Brewster, Report of meeting of the British Association for the 
Advancement of Science, Vol. 14). 

 b) Hiram Witt while searching for gold in California 1851, dropped and broke a piece 
of quartz to find an iron nail with a perfect head inside. (The London Times, 1851). 

12) The Nampa Image is a baked clay figure obtained from a well 
being bored in 1889 at Nampa, Idaho.  It was pumped from 
rocks 300 feet deep under a “Tertiary” lava sheet (12 million 
years old.)  The problem for evolutionists is how can a man 
made clay figure 12 million years old (supposedly) have been 
laid down before man evolved 3 million years ago 
(supposedly)? 

 Source:  American Geologist, F.Wright, 23 (1899), p.267. 
 
 



13) Human and Dinosaur Footprints in the same rock strata: 
 i) Glen Rose, Texas (40 miles south-west of Dallas) at the Paluxy River contains 

hundreds of Human footprints both normal and giant size, along side trails of large 
three-toed dinosaur and Brontosaurus footprints in early Cretaceous limestone dated 
120 million years old.  Both man and dinosaur are apparently running. These prints 
were first noticed after a 1908 flood when the Paluxy river rose 27 feet. 
Clifford Burdick, a mining geologist and Ronald Bird, a paleontologist with the American 
Museum of Natural History carefully examined and reported on the footprints in 
“Natural History”, May 1939, p.255 and in “The Naturalist”, Spring 1957. 
In 1938, Bird Transported some of the Brontosaurus tracks to the American Museum of 
Natural History in New York City. 
Human footprints have been found in layers below that of the dinosaur footprints. 
Over 100 human footprint trails have been studied in the Paluxy River area. 
These refute evolution’s long ages and show that both man and dinosaur lived at the 
same time. 
ii) Turkmenia.  Notice this report in the Sydney Morning Herald, 21 Nov. 1983,  
“A report from the Soviet news agency, Tass, says that about 1500 tracks made by 
dinosaurs have been found in Turkmenia – but among those prints are those 
resembling the footprints of a man.  According to Professor Amanniyazov, director of 
Turkmenia’s Institute of Geology:  “If further analysis proves that the prints have been 
left by anthropoids, the history of mankind will be extended to 150 million, not 5 million 
years.””  
Why did Professor Amanniyazov assume dinosaur extinction 150 million years ago as 
absolutely certainty? Why did he not consider the alternative position of dinosaurs 
living with man recently? 
The fact that dinosaur and human footprints have been found in the same rock strata 
proves that man and dinosaurs lived at the same time. 
This is a great problem to evolutionists who believe that dinosaurs became extinct 70 
million years ago. Evolutionists claim that dinosaurs died out 67 million years before 
man appeared. 
These footprints prove that: 
a) Man and dinosaur lived at the same time, and 
b) The evolutionary geological column is completely wrong in its dating of rocks. 
 The evidence for these tracks being genuine are: 

   i)   The tracks of man and dinosaur are widely distributed from Turkestan to Texas. 
   ii)  The tracks are mostly exposed by bulldozers or erosion. 
   iii) Two Palaeontologists have pronounced them genuine: 
 - Dr. Camp of the University of California, and 
 - Dr. G. Westcott of Ypsilanti, Michigan. 
   iv) The associated dinosaur tracks are accepted as valid. 
   v)  Some prints have ridges of mud pushed up around them. 

vi) Upon sawing through the footprints, the rock particles underneath are more 
compressed than particles surrounding the prints. 
Source: “Scientific American”, A.G. Ingalls: “The Carboniferous Mystery” 162 (1940), 
page 14. See R.L. Wysong “The Creation-Evolution Controversy”, p.373. 

iii) Trilobites in Shoeprint.  In June 1968, William Meister unearthed a fossil 
shoeprint in the “Wheeler Mid-Cambrian” strata at Antelope Springs, Utah.  Trilobites 
were embedded in both heel and toe.  The shoeprint measured 10.25 inches long by 
3.5 inches wide, belonging to a right foot which had stepped on several trilobites. 
Seven other shoe tracks were found in the area precluding this as a quirk. Man and 

trilobite living together would disprove 500 million years of the geological column. 
(“Why Not Creation?” M.Cook, Grand Rapids, Baker, 1970, p.185-193). 
iv) Arizona tracks near Tuba City in the Glen Canyon group, which is late Triassic to 
early Jurassic strata, dated by evolutionists from 100-175 million years ago. Over 60 
human tracks were mapped and photographed, some with shoes, some barefooted, 
some standing still, others walking.  At least 300 tridactyl dinosaur tracks have been 
found in the same strata.( Creation Research Quarterly, Sep, Dec, 1989). 
v) Nevada tracks. Miners digging in a coal seam in Fisher Canyon, Pershing County, 
Nevada, found a shoeprint so clear that traces of sewed thread are visible. The coal it 
was found in has an evolutionary date of 15 million years, long before man “evolved”. 
(Source:  Andrew Tomas, “We Are Not The First”, 1971, p.24). 
vi) Nicaragua tracks.  Human footprints were found near Lake Managua, Nicaragua, 
16-24 feet beneath the surface, under 11 strata of rock.  Mastodon bones and other 
fossils have been found in strata above the human footprints. Other human footprints 
have been found in South America;  New Harmony, Indiana;  St. Louis, Missouri;  
Herculaneum, Missouri;  Kingston, New York;  Berea, Kentucky;  Carson City,Nevada. 
(Source: Creation Res. Soc. Qtly, March 1971, p. 205). 

14) Hammer in “300 million year old” Limestone in London, Texas. 
 This hammer is obviously man made.  The problem here for evolutionists is that this 

artefact shows that man lived at the same time as when limestone was deposited. 
 Source:  “Creation or Evolution”  G. Rehn. 
15) Dinosaur Pictographs. 
 Pictures of dinosaur, ibex and other creatures have 

been found on the walls of the Havasupai Canyon 
by S. Hubbard, Honorary Curator of Archaeology 
of the Oakland Museum in the late 1800’s.   

 Does this show man and dinosaur living at the 
same time? 
Source: “Arizona Highways”. E. Scoyen, 27 July 
1951 p.36-39. 

16) Sculptures of Extinct Birds. 
 Jose Diaz Bolio, a Mexican archaeologist discovered ancient Mayan sculptures of a bird 

like an Archaeopteryx.This would create a 130 million year discrepancy between 
Archaeopteryx extinction and man’s first appearance. Archaeopteryx and man should 
never have met if evolution is true. Source:  Science Digest, “Serpent Bird of the 
Mayans” 64 (Nov. 1968). 

17) Five Toed Llama Etchings on Pottery. Evolution claims 5 toed Llamas were extinct 30 
million  years ago. Source:  R.L. Wysong,  p.378. 

18) Pollen in Pre-Cambrian Strata.  Pollen from 
Angiosperm and Gymnosperm trees (woody 
plants supposedly 260 million years old have 
been found in Pre Cambrian Hakati shale in the 
Grand Canyon (supposedly 570 million years 
old). The problem here for evolutionists is conifer 
pollen existing 300 million years before it 
appeared on earth. Some spores are stained 
with red oxide from surrounding rocks, thus 
proving that the spores are not from present day 
contamination. 

 Source:  Nature, R. Stainforth, 210   (1966) p.292.  



4.    FLOOD  EVIDENCE 
 Creationists state that all geological history can be explained by creation and a 

worldwide flood in the last 6000 years.  Consider the following evidence for this: 
1. Pre-Cambrian void, then abundant, complex Cambrian fossils 
 Pre-Cambrian rocks are the pre-Flood basement.   
 Post-Cambrian rocks are the post-Flood fossil rich strata. Earliest Cambrian rocks 

(supposedly 500 million years old)  contain highly complex, diversified animal fossils 
which suddenly appeared. 

      Question: How could this complex range of fauna evolve so suddenly and quickly?   
 This was as unexplainable to Darwin as it is to Evolutionists today.   
      Answer: Creationists easily explain this as the pre-Flood, post-Flood demarcation. 
 The “2 billion year” geological column used to support the evolution of life, is actually a 

record of the destruction of life by the worldwide flood.  
The geological column is a record of life’s departure, not of life’s coming.   
The geological column represents 2 or 3 months deposition not 2 billion years, as this 
chart shows: 

 

 
 
2. Fossilisation.   The existence of billions of plant and animal fossils preserved in the 
earth’s crust speaks of a flood catastrophe.  The fossil record is not “incomplete” as 
evolutionists argue, (incomplete only because it does not contain the links they need to 
prove evolution), but is quantitatively huge, with a greater variety of species than are alive 
today.   

 Consider these fossil examples supporting the worldwide flood: 
i) Coal and Oil Reserves even in polar regions can only be explained by the 

catastrophic burial of billions of plants and animals.  Coal (fossil plants) were 
deposited by a water catastrophe, not by slow accumulation in swamps.  Fossil 
trees extend through several layers of coal. 

ii) Mammoths by the millions cover about 14% of the earth’s surface from Siberia to 
Alaska, frozen so rapidly that their flesh is edible today. 

iii) Fossil Dinosaur Bones. 
• in Dinosaur National monument Utah contain over 300 different kinds of 

dinosaurs. 
• in Geissseltal Germany, we find remains of 6000 fossil vertebrates. 

iv) Closed Clams.  We find millions of fossil closed clams in a 3 foot stratum in 
Texas.  Clams do not live packed together like this.  Clam shells will open unless 
buried before death. 

v) Billions of fossilised fish, contorted in agony over 10,000 square miles, with 1000 
fish in one square metre are found in England. 

vi) Millions of fossil trilobites rolled into defensive balls, and although marine, are 
found 7000 feet high on mountains. 

vii)  800 billion fossils of amphibians, reptiles and fish covering 200,000 square 
miles in the Karoo formation of South Africa. 

viii)  Rain drops, ripple marks, worm trails, animal tracks, droppings, insect wing 
detail and feathers are fossilised. 

ix) Sharks flattened to 1/4 inch thick with the tail still upright suggest sudden 
catastrophic burial. 

x) Rhinoceroses, camels, pigs, etc. make up 9,000 fossil animals in one hill at 
Agate Springs, Nebraska. 

xi) A 14 foot Portheus fish has swallowed a 6 foot Gillicus fish, with no signs of 
digestion.   

xii) A Perch swallowing a Herring is caught in the action by very quick burial at fossil 
lake Wyoming. (Fig.      ) 

  
Was deposition slow or rapid? 
  
 Question: Where is one example of fossilisation occurring on a scale today equivalent 

to the magnitude of fossil graveyards worldwide? Creationists insist that: “Fossilisation 
is unnatural, abnormal, catastrophic, quick and the exception.  When we see worldwide 
fossilisation, and noting that water is required for fossilisation to occur, then we are 
pointed to Noah’s flood.  The geological column does not record the coming of life, but 
the going and demise of life.” 

 The scientific community is aware of this, but they ignore it and shelve it to keep faith in 
uniformitarian evolution. 

 
 
 
 
 
 
 
 
 



3. Polystrate Trees.  Crossing several rock strata are 
trees preserved as well at their tops as at their 
bottoms.  These fossil trees bridge an evolutionary 
imagined time span of millions of years, that would 
preclude their “in place” growth and fossilisation. 
Question: Was this tree standing unweathered for 

millions of years while strata was slowly deposited 
all around it? 

Answer: No! Tthe sediment and tree were moved 
into place at the same time.  

 This fossil tree spans 20 feet of strata at 
Tennessee.  Slow deposition of rock (uniformity) 
would not allow a tree to be fossilised before it 
would rot and fall over. 

 
4. Simple to Complex by Flood Fossil Sorting. 

We observe a general sorting of fossils from simple, spherical, dense sea creatures to 
less dense, irregular shaped, complex creatures higher up. 
a) Evolutionists interpret this to mean that simple creatures lower down evolved to 

complex creatures higher up over time. 
b) Creationists match these observations with the sorting effect produced by Noah’s 

Flood, as follows: 
i) Initial effects of the Flood would be to trap smaller, simple, spherical, dense 

sea creatures like trilobites in sediment. 
ii) Then plants and trees, being immobile, would be swept off the earth and 

deposited, becoming coal of today. 
iii) Amphibians, living close to the water’s edge and being relatively slow moving 

would be deposited next. 
iv) Reptiles and Dinosaurs living further inland and being relatively slow moving 

(eg. brontosaurus) would be trapped next. 
v) Land mammals and birds being faster-moving and living further inland would be 

next deposited (eg. lions). 
vi) Finally, man, being more intelligent at fleeing to higher ground would be the last 

ones overcome by the Flood, and therefore appear on top of the rock strata. The 
final effect would be simple organisms lower in the sediment to complex 
organisms higher up in the sediment, although contradictions to this order would 
be expected due to randomness of the flood action. This is precisely what we see 
as predicted by Noah’s Flood. 

 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 

  



 
 
 

 

5. Flood Traditions. Every ancient culture has a Flood tradition.  A survey of 120 tribes in 
North, South and Central America found every one to have a flood tradition.  A post-
Flood population would carry Flood ideas with them as they scattered across the world.  
Flood accounts of isolated groups would change over time, but the basic ideas of a 
universal Flood, safety in a ship, with few people surviving would survive.  Noah’s ark 
would have been almost impossible to capsize, having a length to width ratio of 6 to 1 
(ie. 300:50 cubits). 

  
 Consider these Flood traditions, so similar to the Bible: 

a) Babylon:  Berosus (300 BC) tells of the archives of the temple of Marduk: 
 Xisuthros, a king, was warned by one of the gods to build a ship, and take into it his 

friends and relatives and all different kinds of animals, with all necessary food.  
Whereupon he built an immense ship, which was stranded in Armenia.  Upon 
subsidence of the Flood, he sent out birds; the third time, they returned not.  He 
came out, built an altar, and sacrificed. 

b) Egyptians had a legend that the gods at one time purified the earth by a great 
Flood, from which only a few shepherds escaped. 

c) Greek tradition:Deucalion, warned that the gods were going to bring a flood upon the 
earth, for its great wickedness, built an ark, which rested on Mount Parnassus. A 
dove was sent out twice. 

d) Hindu tradition:  Manu, warned, built a ship, in which he alone escaped from a 
Deluge which destroyed all creatures. 

e) Chinese tradition:  Fa-He, founder of Chinese civilization, is represented as having 
escaped from a Flood sent because man had rebelled against heaven. He and his 
wife, 3 sons and 3 daughters were spared. 

f) England: Druids had a legend that the world had been re-peopled from a righteous 
patriarch who had been saved in a strong ship from a Flood sent to destroy man for 
his wickedness. 

g) Polynesians have stories of a Flood from which 8 people escaped. 
h) Mexicans: One man, his wife and children, were saved in a ship from a worldwide 

Flood. 
i) Peruvians: One man and one woman were saved in a box that floated on the flood 

waters. 
j) American Indians: Various legends, in which 1, 3 or 8 persons were saved in a boat 

above the waters on a high mountain. 
k) Greenland: The earth once tilted over, and all men were drowned, except one man 

and one woman, who re-peopled the earth. (International Standard Bible Encyclopaedia.) 
Calculations show that Noah’s Ark only needed to be half-full to carry pairs of all 
kinds of land animals and food. 

l) The Epic of Gilgamesh: George Smith of the British museum found in tablets from 
the library of King Assurbanipal at Nineveh, Flood accounts very similar to the 
Bible’s.  These accounts were copied from tablets of the First Dynasty of Ur (2200 
BC), which when later found contained expressions such as: “the age before the 
Flood”. Gilgamesh, living about 200 years after the Flood,  tells how he visited Noah 
on the island of Utnapishtim, who tells the story of the Flood and his escape, as 
follows: 

 “The assembly of the gods decided to send a Deluge. They said, On the sinner let 
his sin rest. O man of Shuruppak, build a ship, save your life. Construct it with six 
stories, each with seven parts.  Smear it with bitumen inside and outside. Launch it 
upon the ocean. Take into the ship seed of life of every kind. I built it. With all that I 



had I loaded it, with silver, gold, and all living things that I had. I embarked upon the 
ship with my family and kindred. I closed the door. The appointed time arrived. I 
observed the appearance of the day. It was terrible. All light was turned to darkness. 
The rains poured down. The storm raged like a battle charge on mankind. The boat 
trembled. The gods wept. I looked out upon the sea. All mankind was turned to clay, 
like logs floating about. The tempest ceased. The flood was over. The ship grounded 
on Mt. Zazir. On the seventh day I sent out a dove; it returned. I sent out a swallow; 
it returned. I sent out a raven; it alighted, it waded about; it croaked; it did not return. 
I disembarked. I appointed a sacrifice. The gods smelled the sweet savour. They 
said, Let it be done no more.” 

 
5.   EFFECTS  OF  THE  FLOOD 
It is impossible to understand anthropology and geology without understanding the effects 
of the Flood.  Evolution is based on uniformitarianism. Creation explains geological features 
on the basis of Flood catastrophism. Evolutionary uniformitarianists declare that all 
geological features were caused by gentle processes and natural forces that are operating 
today. 
Uniformitarianists find difficulty in explaining the causes of: 
1)  mountain building 
2)  geosynclines 
3)  petroleum 
4)  coal measures 
5)  glaciation 
6)  world wide warm climates especially at the poles. 
7)  mineral deposits 
8)  peneplains (mountains flattened by erosion) 
9)  saline deposits, nor can they explain the nature of 
10) overthrusting 
11) vast volcanic terrains 
12) continental uplift processes 
13) metamorphism 
14) granitization 
15) extinction of whole faunas. 
Evolutionary Uniformitarianists have difficulty explaining the cause of: 
1)  Immense fossil graveyards.  75% of land is covered by sedimentary rocks which 
contain many billions of fossils of plants and animals that died suddenly.  Yet fossilization 
does not normally occur today, because it requires sudden death, immediate burial and 
great pressure.  This is exactly what happened in the Flood. Fossil deposits like the 800 
billion vertebrate fossils in the Karro Beds off Africa are not forming today.  Immense fossil 
beds such as dinosaur graveyards in the Gobi Desert, Agate Springs Quarry in Nebraska, 
the Rockies, Black Hills, Sicilian hippopotamus beds, etc, being thrown together in 
disorderly masses can only be explained by a worldwide Flood. 
As with many animals, dinosaurs gathered together in times of danger.  The rising 
floodwaters finally overtook and buried them in “dinosaur graveyards”.  In the Dinosaur 
National Monument in Utah and Colorado, over 300 dinosaurs have been excavated. 
2)  Dinosaur Extinction.  Most species are already extinct.  What caused all the dinosaurs 
to become extinct so quickly?  The worldwide Flood explains this perfectly. 
3)  No Transitional forms between species in the past or today. If evolution was true, we’d 
expect millions of transitional fossils, but we find none. Why? Because evolution never 
happened. Each twig on the imaginary plant and animal “family trees” is a distinct plant or 

animal type, with no intermediate life forms to connect the twigs. There are no branches, no 
trunk, only twigs. The rest of the tree is imaginary. 
4)  PreCambrian Void of Fossils.  Beneath Cambrian strata, we find no fossils at all 
because the Precambrian void was the Pre-Flood basement rocks. This is astonishing and 
disappointing to evolutionists. 
5)  Sudden Explosion of Life in Cambrian Strata.  The lowest stratum with fossils is 
called “Cambrian”, having at least 1500 species of complex invertebrates, all marine of 
which 60% are trilobites and 30% are brachiopods.  Why did so much complex life suddenly 
appear? 
Answer:  They didn’t evolve, but being the slowest moving creatures, they were buried first 
in the rising flood waters. 
6)  Fossil Placement is from slow moving creatures in the lowest strata to faster moving 
creatures in higher strata, and not from simple to complex creatures.  This, along with many 
misplaced fossils show that the Creation/Flood model better explains fossil placement. 
7)  Polystrate Fossil Trees extending vertically through up to 20 feet of multiple rock 
strata.  These trees were quickly covered by the strata, otherwise each tree would have 
decomposed while waiting 100,000 years for strata to form around it.  From top to bottom, 
these trees sometimes span “millions of years” of strata.  Obviously, both the trees and 
sediments around them were deposited at the same time. The Flood easily explains this, 
but evolutionary uniformitarianism cannot possibly explain it. In May 1980, the explosion of 
Mount St. Helens filled Spirit Lake with vertically floating logs due to the weight of their 
roots.  In the Flood, as vertically floating logs washed into an area, they were covered 
rapidly by sediment, thus forming polystrate fossil trees. 
8)  Coal and Oil Formation.  Most geologists agree that coal came from ancient plants and 
oil came from ancient marine animals.  Neither coal nor oil is being formed naturally today.  
No coal or oil is found in Pleistocene (ice-age) deposits, but instead was quickly laid down 
during the Flood.   
“Petroleum occurs in rocks of all ages from the Cambrian to the Pliocene, but no petroleum 
has been formed naturally since the Pliocene.” (Ben B. Cox, Bulletin of the American 
Association of Petroleum Geologists, May 1946, p. 647). 
Question:  Why did no petroleum form after the Pliocene era?  
This is a mystery to evolutionary geologists, but it is no problem to Flood geology. 
Answer:  From the beginning of the Cambrian to the end of the Pliocene was when the 
Flood produced all the oil and coal reserves.  Because of Flood conditions, other things 
were also deposited in those coal strata, such as boulders, fossil trees, and shale and 
sandstone strata in between coal deposits. 
9)  Overthrusts.  Evolution requires that strata with fish fossils (of “older evolutionary age”) 
will be underneath strata with land animal fossils (of “younger evolutionary ages”).  Instead, 
we find examples of what evolutionists call “overthrusts” with “older fossil bearing strata” on 
top of “younger fossil bearing strata”. Evolution is totally baffled by this reversal of strata 
sequence. 
Question:  How can the Swiss Matterhorn and North American Appalachians rest on top of 
what evolutionists think is younger strata? 
Answer:  The Flood turbulence explains this easily as follows: 
At some point, some land animals and plants (evolutionary younger) were covered by 
Flood-borne sediments.  Then, during the Flood, waters with fish (evolutionary older) were 
carried in from some distant location and deposited in a pile of sediment above the land 
creatures. 
10) Worldwide Flood Legends.  Races and tribes from all over the world have traditions 
about a great Flood that covered the whole earth. 



a)  One survey of 120 tribal groups in North, Central and South America revealed Flood 
traditions in each group.  (International Standard Bible Encyclopedia, Vol. 2, p.822). 
b)  Another survey of ancient literature lists 41 nations with Flood legends, including: 
Assyria, Babylon, Alaska, Asia Minor, Aztecs, Brazil, Cherokee, China, Egypt, Eskimo, Fiji, 
Greece, Hawaii, India, Italy, Lithuania, Nicaragua, Mexico, Persia, Peru, Russia, 
Scandinavia, Sumatra, Syria, Wales, etc.  (“The Deluge Story in Stone”, B. Nelson (1968)). 
c)  Sir James G. Frazer in “Folklore in the O.T.” (1919), Vol. 1, p.146-330) lists 143 ancient 
Flood records, including:  11 from ancient Greece, 6 from Europe, 29 from Persia and 
India, 31 from Australia, Southeast Asia and the Pacific, 63 from North, Central and South 
America and 3 from Africa.  (“Symposium on Creation IV, (1972), p.36-38, Donald W. 
Patten). 
11) Chinese language characters record ancient Biblical Flood and Creation details, such 
as: 
a)  Boat in Chinese, combines the words vessel and eight (Genesis 7:7,13; 8:13). 
b)  Rebellion and Confusion in Chinese, combine the words tongue and walking, 

reminding us of the scattering of mankind at the Tower of Babel (Genesis 11:4-9). 
c)   Devil in Chinese, combines the words man, garden and private, reminding us of 

the temptation of man in the garden of Eden (Genesis 3:1-7). (‘God’s Promise to the Chinese’, 
Nelson, Chock, Broadberry,1997. 

 
II. PRE  FLOOD  CONDITIONS 
12) Warmer climate. “And God said, Let there be a firmament in the midst of the waters, and let it 
divide the waters from the waters.  And God made the firmament, and divided the waters which were 
UNDER the firmament (ocean) from the waters which were ABOVE the firmament: (water vapour 
canopy).”(Genesis 1:6,7). 
The firmament separated the water canopy above the earth from the ocean below on the 

earth. 
A great pre-flood water canopy would imply several things, much of which is scientifically 

verifiable: 
a)  Greenhouse Effect world-wide.  The water canopy would have captured long-wave 
radiation (heat) to heat the earth.  Similarly, the dense clouds of Venus give it an even 
temperature.  We have pole to pole evidence that the pre-flood world was subtropical.  
Under the ice caps we find palm leaves, fruit trees, vast subtropical forests, tropical marine 
creatures, and coal beds, all explained by a pre-flood water canopy. Fossil-bearing rocks 
from all “ages” were laid down during a warm climate worldwide, with none of today’s 
climate zones. 
b)  Arctic fossils are similar to those of low latitudes. (W.J. Miller, An Introduction to 
Historical Geology (1952), p. 116). 
c)  Large coal deposits are found in Antarctica, proving that it once had a warm climate 
with much vegetation and large trees. 
d)  In Alaska and the Arctic Circle have been found fossilized mangroves, palm trees, a 90 
foot high plum tree with green leaves and ripe fruit, mammoths, sabre tooth tigers, etc. 
13) Lower Sea Levels.  In the past, the ocean basins filled up with water, as seen by 
extinct volcanoes hundreds of feet under today’s sea level with their tops flattened off 
(seamounts). What caused them? 
Answer:  Volcanic activity began before the Flood ended.  These volcanoes in the ocean 
basin had their summits eroded away by storm and wave action as sea levels reached their 
summits.  The oceans kept filling and rising, and the horizontal tops became submerged. 

14) Coral Atolls are also explained by rising Flood sea levels.  Coral only grows within 200 
feet of the ocean surface, yet the remains of earlier coral are found much deeper in the 
ocean.  As oceans neared their present level, coral atolls were built above seamounts. 
15) Similarities between plants and trees in Brazil and West Africa imply that the South 
Atlantic did not exist as a broad ocean before the Flood. 
 
III.  POST  FLOOD  EFFECTS 
16) Submarine Canyons are found just where our major rivers enter the oceans.  Many of 
these V-shaped canyons are extensions of major rivers, such as the Amazon Canyon, the 
Hudson Canyon, the Ganges Canyon, the Indus Canyon and the Congo Canyon.  What 
forces could gouge out canyons that are sometimes 15,000 feet below sea level?  These 
canyons could only have formed if the ocean level was then lower, and was gradually filled 
by floodwaters pouring from the skies through these rivers, then the ocean floors sank. 
17) Underwater River Channels on the ocean floor.  Modern sounding equipment has 
revealed thousands of river beds extending from the continents on the ocean floors, e.g. the 
Congo river runs 145 miles under the Atlantic ocean, the Hudson river has dug a channel  
90-300 miles under the Atlantic Ocean. 
18) Large River Gorges with small streams.  In the past, these rivers carried a far greater 
volume of water, as seen by the many large boulders left in these gorges.  Evolutionists 
think a little stream cut through solid rock over millions of years to produce these gorges.  
These rocks were not hard rock when first laid down by the flood, but soft mud and loose 
sand.  The gorge was created by great quantities of this soft mud being washed away by 
enormous volumes of floodwaters receding in the few years after the Flood. 
19) Sedimentary rock strata worldwide were all laid down during and after the Flood by its 
immense wave and storm erosion. 
20) Mountain Building.  There were no high mountains before the Flood. “all the high hills, 
that were under the whole heaven, were covered. Fifteen cubits upward did the waters 
prevail; and the mountains were covered. And all flesh died.” (Genesis 7:14-21).   
Mountain building includes the production of our present folded and volcanic mountains and 
ranges, as well as raising of continental masses and sinking of ocean basins. 
On the basis of fossil evidence, most scientists believe that most of our mountain ranges 
uplifted during the Pleistocene or late Pliocene periods (both of which occurred shortly after 
the flood).  E.g. Alps, Andes and Himalayas mountains rose and sea basins sank.  Water 
flowed into these basins, and under its great weight they sank even further.  
Rock strata being water-logged and pliable folded up, down, sideways or was overturned, 
giving rise to our present great, non volcanic mountain ranges. 
Most of the floodwaters (now in the oceans) came from underground, not from the skies 
(Genesis 7:11). This up-swelling of water in giant geysers caused violent upheavals 
underground.  The ground became folded, crunched and twisted as it adapted to the huge 
forces unleashed, leading to continents rising and seafloors sinking. 
21) Vulcanism. Flood water coming from underground, most likely would have been 
accompanied by volcanic eruptions.  The volcanic ash shooting up into the water canopy 
would have provided the dust necessary to condense the water canopy into rain drops, thus 
causing the 40 days of rain.   
Genesis 7:11 gives this as the order of events: “the same day were all the fountains of the 
great deep broken up, and the windows of heaven were opened”.   
Vast volcanic action would produce huge lava flows.  This would explain the origin of 
today’s Indian Deccan Plateau containing volcanic rock two miles deep, as well as the 
Igneous American Columbian plateau in NW USA covering 200,000 square miles and 
averaging 3000 feet deep.  



When water came out of the ground, rocks shifted to fill these gaps, leaving huge cracks 
down which water flowed and contacted molten magna.  The release of so much water from 
deep underground caused immense low and high pressures within the earth.  Rocks shifted 
to fill these gaps, leaving huge cracks down which water flowed, hitting the molten rock.  
This caused exploding jets of lava to pour out of the earth’s surface, producing thousands of 
volcanoes. For example, in 1883, the volcanic island of Krakatoa developed a sideways 
crack, through which seawater poured, flowing down the main vent hole.  This caused the 
explosion which was heard 4800 kilometres away, produced tidal waves 130 feet high and 
drowned 36,000 people on nearby islands.  It caused a worldwide temperature drop lasting 
5 years.  There are thousands of extinct volcanoes at Pleistocene (Flood) levels worldwide.  
Oozing lava built India’s Deccan Plateau which in some places is 3 km deep. No ancient 
volcanic lava beds are ever found below the Cambrian level, because the Cambrian marks 
the beginning of the Flood. 
Volcanic action occurred during and after the Flood as seen from pillow lavas formed when 
lava ejects from underwater volcanoes. Pillow lava is the most abundant volcanic rock on 
earth. 
22) Ice Age.  There are over 10,000 extinct land and underwater volcanoes worldwide.  
During the Flood they poured out so much smoke that they darkened the sky, resulting in 
rapid cooling of the earth.  These pollutants would have remained 16-50 km high for many 
years, triggering the Ice Age.   
A four-fold increase in atmospheric dust could decrease average surface temperature by 3 
OC.  Rapid cooling caused by thousands of volcanic explosions during and after the Flood, 
brought on the Ice Age.  
23) Animals frozen at the Poles implies catastrophe, not uniformitarianism. In Siberia and 
Alaska, millions of mammoths and other animals have been snap-frozen in ice in some 
areas, and deposited in watery graves in other areas. These mammoths died suddenly, in 
intense cold and in great numbers. Death came so quickly that the swallowed vegetation is 
yet undigested in their stomachs and mouths. The Bereskova Mammoth of Siberia had 
edible flesh. Its stomach contained 30 pounds of undigested subtropical vegetation, and its 
mouth was full of partly chewed food. The time between death and freezing can be 
determined accurately by the extent of water separation within the cell. Water begins to 
separate within the cell at death, and ceases to separate at freezing. The small extent of 
separated water indicates that they were rapidly frozen at temperatures below –150 F. 
Question: What dropped the mammoths so quickly with such unearthly cold?  
Answer: Frozen food experts say that these mammoths must have been frozen at well 
below –150F. Sled dogs have been in Arctic blizzards under –80F for days without freezing. 
Even the centre of these mammoths were snap frozen and undecomposed. These cold 
temperatures exist in Jupiter’s satellites Callisto, Ganymede, Io and Europa, as well as in 
Saturn’s icy rings, crust and satellites, along with Uranus and Nepture. If icy particles 
nearing –200F were deposited on earth from such a cosmic visitor, this could produce a 
great icy avalanche of supercooled ice that would immediately asphyxiate these animals, 
freezing their lungs solid. They would drop immediately followed by death and freezing 
within minutes. Wrangel, the explorer, observed on Bear Island (Medvizhi Ostrova) that the 
soil consisted of only sand, ice and so many mammoth bones that this seemed to be the 
chief substance on the island. Ice is conically stacked in places at 15,000 feet deep in the 
Arctic and 10,000 feet deep at Byrd Station in Antarctica. The Catastrophism model would 
suggest that: 
a) the ice was transported across the solar system in a comet-like orbit to the Earth-moon 
region. 

b) the second phase was a deflection of the cold, icy particles by earth’s Van Allen radiation 
belts. These electrically charged particles of ice were redirected over the magnetic polar 
regions, reducing their velocity, causing them to descend over a vast magnetic polar area 
and concentrate in different locations during their descents, thus forming the centres or 
nodes of the ice mass and the snap freezing of all living things in the area. The effect of this 
was to: 
i)   completely condense the pre-flood water vapour canopy that allowed tropical climates 
at the poles. 
ii)   increase the earth’s inclination from perpendicular to 23 ½ degrees. 
iii)  ultimately raise sea levels by 350 ft to 450 ft. 
iv)  flood the continental shelves. 
v)   cause orogenic uplift in the Pacific rim and Himalayas. 
vi)  cause a bleeding of lava, forming new basalt plateaus on several continents. 
vii) cause a rash of over 10,000 new volcanoes which further reduced temperatures 
worldwide. 
viii)cause glacial scouring.  
ix)  increase ocean salinity due to increased rainfall and water running off continents and 
rivers. 
x)   Bury billions of animals and trillions of plants, many being preserved today as fossils. 
xi)  cause early human civilization to develop in glacier free areas such as Egypt, 
Mesopotamia, India and China. As the Ice Age retreated, civilization spread further. 
xii) Make human survivors and their early generations very catastrophe-minded. 
xiii) Ice sheets moved southward down the continents causing the Ice Age and glaciation. 
xiv) Reduced human longevity. See graph. 
24. Glaciation. There is abundant evidence that northern Asia, all of Canada, and about 
25% of USA were once covered by glacial ice. These were caused by: 
a) The darkening of the skies by volcanic dust, 
b) The loss of earth’s thermal blanket, the water vapour canopy, which gave the pre Flood 
world a greenhouse effect. These glaciers scoured solid granite and left dumps of 
sediments and boulders at their sides and ends.  
25. Sudden Warming. After the Flood, volcanic activity declined, the volcanic dust settled 
back to earth, and much of the earth warmed up again, causing a rather rapid receding of 
the glacial sheets. Sudden warming quickly increased the melting of ice, draining of glacial 
lakes, and water runoff through rivers and deltas into the oceans. 
26. Radiation, Size, Longevity. The pre-Flood water canopy and great ozone canopy 
would have greatly shielded the earth from short-wave (high frequency) gamma, x-rays, and 
UV radiation. (This would have invalidated C-14 production and hence C-14 dating before 
the flood). These harmful rays cause mutations, and ageing.  If these rays were largely kept 
out, we would expect greater health, lifespan and possibly size of pre-flood creatures.  
Some pre-Flood insects had 2 foot wing spans.  Some birds had 30 foot wing spans. Some 
dinosaurs weighed 50 tons, some humans had feet 20 inches long. Today we are seeing 
larger squids in some areas due to higher carbon dioxide levels associated with global 
warming. 
Conclusion: The facts taken 
as a whole point to a world- 
wide Flood and not to long 
ages of sedimentary strata 
production and evolution 
through transitional species.  
 



6.  ASSUMPTIONS  IN  RADIODATING. 
Evolutionists rely heavily on radiometric dating to give them the billions of years required for 
evolution to have any chance of happening. Major radiodating methods are: 
i) Uranium – Thorium – Lead dating, based on the decay of Uranium and Thorium into 

Radium, Helium and Lead. 
ii) Rubidium – Strontium dating based on the decay of Rubidium to Strontium. 
iii) Potassium – Argon dating based on the decay of Potassium into Argon and Calcium.  
These dating methods are only accurate if certain assumptions always apply to every 
specimen tested, these assumptions being: 
i) Each system must be closed from any contamination of the parent or daughter 

products, from water, chemicals, changing radiation from space or rock pressure. 
ii) In the beginning there were no daughter products in the sample, only elements at 

the top of the radioactive chain were present. For example, all the U238 had no lead 
206 in it; and no lead 206 existed anywhere else. 

 At creation, all things were created with the appearance of age.  Radioactive minerals 
would be partially decayed on the first day.  How far decayed?  No one knows.  
Evolutionists think that Polonium only occurred as a daughter product of Uranium 
decay, yet Robert Gentry’s studies show that Polonium 218 was in granite when it was 
created in solid form.  
It is impossible to know what was initially in any given sample of radioactive mineral. 

iii) The decay rate must have always been the same, and never have changed. 
 The decay rate of any radioactive mineral can be altered: 

a) If the mineral is hit by high energy particles from space (such as cosmic rays, 
neutrons, etc) 

 b) If there is, for a time, a nearby radioactive mineral emitting radiation. 
 c) If physical pressure is applied to the radioactive mineral. 
 d) If certain chemicals contact it. 
iv) If any changes occurred in the past in earth’s atmospheric protecting blanket.  

Cosmic rays, photons, high energy mesons, etc. enter our atmosphere continually, 
some travelling up to 100 metres underground and 1400 metres underwater.  If our 
atmosphere was more heavily water saturated than today, it would produce a major 
change in radioactive minerals decay rates. Before the Flood, there was much more 
water in the air.  

v) The Van Allen radiation belt encircling the earth about 450 miles above us is 
intensely radioactive.  It emits 3000-4000 times as much radiation as cosmic rays 
entering the earth. 

 Any change in the Van Allen belt would greatly affect the decay rate of radioactive 
minerals.  But we know little about this belt or whether it has changed in the past, since 
it was only discovered in 1959. 

vi) John Joly of Trinity College, Dublin found evidence that the long half-life minerals 
have varied in their decay rate in the past.  This would invalidate all possibilities of 
age calculation by radioactive methods.  (A.F. Kovarik, Bulletin 80, National Research 
Council, June 1931, p. 107). 

Why we cannot trust Uranium – Thorium – Lead Dating Methods. 
3 types of U/Th dating are:  

a)  Uranium 238 decays to Lead 206, with a half-life of 4.5 billion years. 
b)  Uranium 235 decays to Lead 207, with a half-life of 0.7 billion years. 
c)  Thorium 232 decays to Lead 208, with a half-life of 14.1 billion years. 

1) Contamination: Lead could be mixed in with the Uranium or Thorium.(Faul, Nuclear 
Geology,1954) 

2) Leaching: Some of the Uranium and its daughter products could have leached out.  
Lead can be leached out by weak acid solutions. 

3) Neutron capture:  Lead 207 (thought to have been formed only by decaying Uranium 
235), could have been formed from Lead 206 by capturing free neutrons from 
neighbouring rocks.  Also Lead 208 (thought of as forming only by Thorium 232 decay) 
could have been formed by capturing free neutrons from Lead 207.  Lead 208 could 
have formed by capturing free neutrons from Lead 207. Cooke extensively checked 
this, and discovered that almost all radiogenic lead in the earth’s crust could have been 
produced by neutron capture instead of by Uranium or Thorium decay.   
This alone totally invalidates Uranium and Thorium dating methods. 

4) Intense heat damages radiodating clock settings. 
 Evolutionists think the earth was originally molten, yet molten rocks produce wild 

variations in radioactive materials clock settings. 
 Question:  “Why do the radioactive ages of lava beds, laid down within a few weeks of 

each other, differ by millions of years?”  (Electromagnetics and the Appearance of Age, 
Glen R. Morton). 

Why we cannot trust Potassium Argon dating: 
Radioactive potassium decays into calcium and argon gas. 
1) Argon gas has been found to quickly leave the mineral, escaping into other rocks and 

the atmosphere.  (G.W. Wetherill, Science, Sep. 20, 1957, p.545). 
2) Potassium can be leached out of rocks. 
 Rancitelli and Fisher found that 60% of potassium can be leached out of an iron 

meteorite by distilled water in 4.5 hours.  (Planetary Science Abstracts, 1967, p.167).  
Heavy rainfall transfers potassium from one location to another. 

 It is unbelievable – but true – that potassium-argon dating is a key dating method used 
to date sea floor spreading from ocean bottom basalt lava. 

 Key:  Submerged volcanic rocks, produced by lava flows in 1800-1801 off the coast of 
Hawaii near Hualalai were dated using potassium-argon dating to range from 160 
million years to 2960 million years (Science, Oct.11, 1968; Journal of Geophysical 
Research, July 15, 1968). 

 Note:  Just one major catastrophe – such as a worldwide Flood would have ruined the 
usefulness of all our radiodating methods because of: 

 i) Massive contamination problems as water, chemicals and radioactive substances 
moved from one place to another. 

 ii) Major Radioactive rate changing activities (such as atmospheric, magnetic and 
radioactivity changes) would have reset the radiodating clocks. 

 iii) Redistributing of rock pressure above radiogenic rocks would have reset their 
clocks. 

 iv) Reversals of the earth’s magnetic core was caused by shock waves from surface 
events such as earthquakes, volcanoes, giant geysers, seafloor shrinking, and massive 
mountain building. 

  Note:  H.C. Dudley, in laboratory tests, changed the decay rates of 14 different 
radioisotopes by varying the pressure, temperature, magnetic field strength, stress, etc.   
(H.C. Dudley, “Radioactivity Re-examined”, Chemical and Engineering News, April 7, 
1975, p2).   
All these forces operated during and after the Flood. They would have dramatically 
affected rocks radioactive clocks, thus invalidating all radiometric dating methods used 
today. 

 
 



7.  REFUTING  EVOLUTIONARY  EVIDENCE 
Many High School and University Biology textbooks continue to give evidences of evolution 
which have been disproved years ago.  Examples include: 
1.  False Transitional Forms.  There are no examples of any species changing to another 

species, but evolutionists claim 6 examples hoping that people will be ignorant enough 
of scientific discoveries to believe evolution’s claims.  Remember that changes within a 
species is not evolution. 

a)   The Horse Series.  Evolutionists have selected a variety of different sized animals, 
arranged them from small to large, and called them a “horse” series.  A leading 
evolutionist says:   
“The uniform continuous transformation of Hyracotherium (Eohippus) into Equus, so 
dear to the hearts of generations of textbook writers, never happened in nature.”   
(G.G Simpson, Life of the Past, (1953), p. 119).  Note these problems with the “Horse 
Series”: 

    i) The number of rib bones does not agree with the sequence.  The 4 toed 
Hyracotherium has 18 pairs of ribs, the next creature has 19 pairs, the next has 15 
pairs, and Equus has 18 pairs of ribs. 

       ii) Never found in consecutive strata.  Nowhere in the world are the horse series 
fossils found in        successive strata. 
iii) Recent fossils below earlier fossils.  In South America, the “more recent” one-toed 
animal is found below the “more ancient” three-toed creature. 

      iv) Evolutionists call a badger a horse.  The first horse (Hyracotherium or Eohippus) is 
like our modern rock badger (hyrax) now living in Africa, with a suction cap on its feet to 
climb trees. 

      v) There are over 20 different fossil horse sequences in different museums 
worldwide. 
      vi) You could show the same size increase by comparing small to large dogs, which 

we know do not show transitional forms across species. 
b)   Archaeopteryx is a bird, not a transitional form between a reptile and a bird. 

Archaeopteryx occurs in only 2 clear fossils found in 1861 and 1877 in Solnhofen 
quarry, Germany in Jurassic limestone (supposedly 150 million years).  2 possibilities 
about Archaeopteryx are: 
A) It is a bird, not a transitional half reptile, half bird, because: 
i)   Scientists declared it a bird at the International Archaeopteryx Conference in 

Eichstatt, Germany  in 1982, and not a reptile or half reptile/half-bird, and not the 
ancestor of modern birds. 

ii)  How could reptile scales turn into feathers? Evolutionists cannot explain how this 
could happen. 

iii) Bones like a bird.  It had thin, hollow wing and leg bones as a bird. 
iv)  Not earlier than birds.  It does not predate birds because other bird fossils have 

been found in the same Jurassic strata as archaeopteryx. 
v)   It has modern bird feathers. (Science 203 (1979), p. 1020, A. Feduccia and H.B. 

Tordoff). 
vi)  It has no intermediate feathers from scales to feathers, nor have these ever been 

found. 
vii) It has well developed wings designed for flight, with asymmetric feathers. Flying 

birds have more feather on one side of the shaft than non flying emus, ostriches, etc. 
viii) No prior transitional forms from reptile to archaeopteryx.  It has fully developed bird 

wing bones and flight feathers.  

ix)  Other birds had teeth as well as Archaeopteryx.  (P. Moody, Intro. to Evolution (1970), 
p.196-197). 

x)   Modern birds below it.  2 crow sized birds were discovered in the Triassic Dockum 
Formation in Texas, which according to evolution, would be 75 million years older 
than Archaeopteryx.   
(Nature, 322, Aug.21, 1986, p. 677;  Science, 253, July 5, 1991). 

B) Archaeopteryx may be a hoax.  In 1985 some of the leading scientists in England 
(Fred Hoyle, R.S. Watkins, N.C. Wickramasinghe, J. Watkins, R. Rabilizirov and L.M. 
Spencer) declared Archaeopteryx to be a carefully contrived hoax (British Journal of 
Photography, March-June 1985) because of slab mismatch, cement blobs being left on 
the fossil during the feather etching process, and the feather markings had been 
carefully imprinted on the fossil by an unknown hand. 

c) Domestic Animals like dogs and pigeons.  Scientists acknowledge that all dogs 
descended from a common dog ancestor and that all dogs are still dogs.  All biologists 
classify dogs as being in the same species, yet there are far greater differences among 
dogs than there are among Darwin’s finches.  There are many sub-species of domestic 
animals such as dogs, cats, cattle, sheep, pigeons and chickens due to selective 
breeding. 
Man cannot cross-breed different species, including apes.  Pigeon fanciers have bred 
many colour variations of pigeons, but all these pigeons can still interbreed and are still 
pigeons.   
All pigeons are sub-species of the basic species type known as the rock dove. 

d) Flies and Bacteria resistant to DDT are claimed to be evolutionary changes by “natural 
selection” (really “natural variation”).  Some flies have become resistant to DDT, and 
some bacteria have become resistant to antibiotics. But here again, the flies are still 
flies, and the bacteria are still bacteria. No species change occurred. When DDT is 
stopped, soon the various strains return. 

e) Peppered Moths in England are the most often discussed evolutionary “proofs” of 
natural selection. If this is the best example of evolution, then surely evolutionists have 
no case. 
There can be light and dark peppered moths, but they are still peppered moths.  They 
are just variations within a species (Biston Betularia). 
This is not evolution, but simply a change in the ratio of black and white moths within a 
stable species.  No new species results.  “Since it begins and ends with peppered moths 
and no new species is formed, it is quite irrelevant as evidence for evolution”.  (On Call, 
July 2, 1973, p.9).   
Note: Variation within a species is not evolution.  
When Harrison Matthews wrote the introduction for the 1971 edition of Darwin’s “Origin 
of Species”, he denied evolution in several respects, especially of the peppered moth: 
“The (peppered moth) experiments beautifully demonstrate natural selection – or 
survival of the fittest – in action, but they do not show evolution in progress, for however 
the populations may alter in their content of light, intermediate, or dark forms, all the 
moths remain from beginning to end (Biston betularia).” (page xi).  
Anyhow peppered moths do not normally land on the sides of trees.  Evolutionary 
photos were made of dead moths pasted onto the sides of trees. 

f) Galapagos Finches.  The DNA gene pool within a given true species can be broad 
enough to produce hybrids, varieties or sub-species.  This is why Darwin’s finches on 
Galapagos Island, can produce bills of different length.  When Darwin visited the 
Galapagos Islands, 600 miles from the South American mainland, he found several 
different finches, which had developed some different habits and diet. Little 



crossbreeding between these 14 finch varieties occurred.  Yet they were still all finches 
(Geospizinae).  These finches had blown in from South America, adapted to their 
environment, and produced several sub-species.  Darwin was certain that this showed 
cross-species evolution (change into new species).  But they were still finches.  This 
was his main evidence of evolution that he brought back to England.  Darwin, knowing 
nothing about genetics and the DNA boundary to changes across basic types, imagined 
a new species had occurred.  In reality they were sub-species of single parent species 
that in the past, had reached the island from South America, yet Darwin called them 
different species, and therefore claimed them to be a proof of evolution. 
 

2. Comparative Anatomy or Similar Structures. 
A major problem for evolutionists is that evolution is not occurring now, and the fossil 
record shows that it has not occurred in the past.  Similarities in plants and animals 
show that: 

a) A single Designer made creatures with similar designs, because of the purpose they 
must fulfil. 
b) Not because they are related or evolved from each other, eg. 

a) Similar designs of big spoons, little spoons and ladles do not prove they evolved 
from each other, but that they were designed to fulfil a similar purpose. 

b) Similar designs of automobiles such as Ford, Toyota, General Motors, BMW do 
not prove they evolved from each other but that they were all designed to travel 
along roads, be sat in, carry engines and luggage. 

Key:  Similarities only show that we have the same Creator. 
Evolutionists use these examples of similar structures to prove evolution. 
i)  Xylem:  “Ferns, conifers and flowering plants all have vascular tissue, including 
conducting vessels (xylem) which transport water throughout the plant.  This suggests that 
these plant groups had a common ancestor”.  (High School Biology textbook, K. Mudie, J. 
Brotherton). 
Answer:  This similarity arises because it is the best way for these types of plants to grow, 
so the Designer used this basic pattern for nearly all trees.  Plants do not have the 
intelligence to decide how they shall be structured. 
ii)  Pentadactyl limb:  This is the “5-boned” arm and leg found on most land vertebrates.  
Evolutionists think that they inherited this from aquatic ancestors, lobe-finned fish. 
Question:  Why would all vertebrate arms and legs have a pentadactyl limb? 
Answer:  Because it is the best design. 
There is no better way to design a simpler limb with such a wide range of movement.  The 
same Designer made them all. 
iii) Aortic arches:  All blood flowing out of the heart first flows up through the aortic arch, 
then branches into 4 main arteries to produce 5 aortic arch patterns.  If evolution were true, 
then all animals in each of these 5 aortic arch types would be closely related to each other, 
but this is not the case as is seen from animals in each group, such as: 
a) Animals with the first type of aortic arch are: horse, goat, donkey, zebra, cow, sheep, pig, 
deer. 
b) Animals with the second type of aortic arch are: whale, mole, shrew; porpoise, hedgehog. 
c) Animals with the third type of aortic arch are:  skunk, bear, kangaroo, rat, raccoon, dog, 
possum, squirrel, beaver, mouse, wombat, porcupine, cat, weasel. 
d) Those with the fourth type of aortic arch are: dugong, some bats, sea cows, platypus, 
echidna, man.  
e) Animals with the fifth type of aortic arch are:  walruses and African elephants. 
Question: Do these show any coherent evolution?  No. 

Question: Does this prove that humans evolved from echidnas?  No. 
iv) Other similarities which disprove evolution: 
a) The eye of man and octopus are very similar. 
b) The heart of man and pig are very similar. 
c) The concentration of red blood cells of man and fish are very similar. 
d) The specific gravity of blood of man and frog are very similar. 
e) The structure of hemoglobin of man and root nodules are very similar. 
f) The cytochrome C in the cell of man, sunflower and bullfrog are very similar. 
v) Blood Serum test for antibodies is used to support evolution but other inconclusive tests 
are ignored. Blood serum tests of man and animals give varying percentages of 
precipitation.  Kangaroo is 0%, and man is 100%.  According to this evolutionary “proof”, 
man descended from apes, which descended from sheep, which descended from deer, 
which descended from horses, which descended from kangaroos, which descended from 
nothing. 
vi) DNA count in relation to size.  Surely the DNA count of various creatures will increase in 
relation to their size.  Consider these examples: 
Colon bacteria 0.0047; yeast 0.07; snail 0.67; sea urchin 0.90; chicken/duck 1.3; carp 1.6; 
green turtle 2.6; cattle 2.8; man 3.2; toad 3.7; frog 7.5; lungfish 50; amphibian 84. 
Man is not at the top of the list as evolution would require. 
Note: By calling an impossibility “evolution”, does not make it possible. 
 
3. Comparative Embryology (Haeckel’s Theory of Recapitulation). 
Definition:  “Comparative Embryology is the study of different animals’ embryos, looking for 
similarities that suggest a common ancestry.  All chordates have embryonic gill pouches.  
Only in fish and amphibian embryos do these develop into gills. Why do human embryos 
possess gill pouches?  Evolutionists think that we inherited them from an aquatic ancestor”.   
(High School Biology Textbook K. Mudie, J. Brotherton, p.278, (2000)). 
i.e:  Human embryos are said to repeat or “recapitulate” various stages of their ancestors 
evolution, such as “gill slits” representing the fish stage, the “yoke sac” representing the 
lizard/reptile stage. 
Answer:  a)  The human embryos “yoke sac” makes the blood until bones develop to make 
blood, whereas a bird “yoke sac” is the food source a chick lives on until it hatches. Human 
and bird “yoke sacs” have completely different functions. They only look alike. 
b)  The human embryos “3 small folds” are not gills or slits implying human evolution from 
fishes, but the upper fold will develop into the middle ear canals, the middle fold will become 
the parathyroids, and the bottom fold will become the thymus gland. 
c)  The human embryos “tail” is not a tail implying human evolution from reptiles, but the 
forming spine from which muscles attach. 
Yes, it is true that we were once small round things, but this does not prove we evolved 
from marbles or ball-bearings. 
Comparative embryology just looks at the outside appearance instead of finding the real 
reason these structures are there.  Ernest Haeckel in 1866 first championed this false idea 
calling it the “Law of Recapitulation” or “Biogenetic Law”.  Haeckel in 1868 and 1874 
published fraudulent charts to prove his “law”.  Haeckel had drafting ability, and he carefully 
redesigned embryo pictures so they would look alike.  Haeckel faked human embryos to 
look like a dog embryo, when they are quite different. The following scientists exposed 
Haeckel’s frauds: 
i) Wilhelm His, a German embryologist and father of modern embryology, exposed 
Haeckel’s hoax in a detailed 1874 publication (Unsere Korperform), concluding that Haeckel 
was dishonest and discredited. 



ii) F. Keibel, professor of anatomy at Freiburg University (1915), said, “it clearly appears 
that Haeckel has in many cases freely invented embryos or reproduced illustrations in a 
substantially changed form”. 
iii) At Jena, 5 professors at Haeckel’s University charged him with fraud. He was 
convicted by a university court. 
iv) His deceit was thoroughly exposed in a book by J. Assmuth and Ernest Hull, entitled 
“Haeckel’s Frauds and Forgeries” (1915).  They quoted 19 leading authorities of the day 
opposing Haeckel. 
v) In 1997, Dr. Michael Richardson, an embryologist at St. George’s Medical School in 
London, assembled a scientific team that photographed the growing embryos of 39 different 
embryo species.   
In a 1997 interview in the London Times, Richardson said this about Haeckel:  “This is one 
of the worst cases of scientific fraud.  It is shocking to find that somebody one thought was 
a great scientist was deliberately misleading.  He copied a human embryo, pretending that 
the salamander, pig and all the others looked the same at the same stage of development. 
They don’t……these are fakes.”  (Michael Richardson, quoted in “An Embryonic Liar”, The 
London Times, August 11, 1997, p.14).   
In spite of such full disclosure, Haeckel’s “biogenetic law” and fraudulent drawings continue 
to be printed in school textbooks to today, deceiving millions of teens.  Embryonic 
similarities point to a single Creator, not to a common ancestor. 
vi) In 1921, Professor Walter Garstang in a famous paper destroyed Haeckel’s unsound 
theory of recapitulation.  Those educational institutions that continue to teach comparative 
embryology are not educational institutions, but are institutions for miseducation. 
 
4.  Chemicals of Life formed on Primitive Earth. 
Evolutionists have tried to guess what chemical conditions on a primitive earth would 
spontaneously generate life from non-life. 
In 1953, at the University of Chicago, Miller and Urey mixed ammonia, hydrogen, methane 
and water vapour to simulate earth’s early atmosphere.  After one week of subjecting this to 
electrical discharges they found that some amino acids had formed.  Later if Hydrogen 
Cyanide was added, more amino acids formed. 
Question:  Does this prove evolution of amino acids to living creatures? 
Answer:  No, for these reasons: 
1) Evolution is teaching spontaneous generation, a Dark Ages error that life came from 
non-life, which was refuted over 140 years ago by Loius Pasteur (1860).  Evolutionists 
change the name to “biopoiesis” so students won’t suspect anything. 
2) Urey and Miller only produced dead chemicals, not life. Just because amino acids are in 
living things, does not make them living. 
3) There are over 2000 complex enzymes required for a living organism, yet not one of 
these could have been formed on earth in 20 billion years.  (Fred Hoyle, New Scientist, 19 
Nov. 1981).  Urey and Miller only produced a few small amino acids, and no enzymes. 
4) If by remote chance a living creature was formed, it had to have all its parts working 
perfectly on day one of its existence, or it would have died and killed any evolutionary 
process.  Its reproductive organs would have to have been working perfectly. 
5) It would have had to find a mate who by chance had also evolved that same day with 
all its parts also working perfectly on Day one of its existence, including reproductive 
organs. 
6) Both living creatures would have wanted to reproduce and their offspring would have 
had to have both the ability and desire to reproduce. 

7) Urey and Miller’s amino acids were formed in million dollar, well-equipped laboratories, 
by highly intelligent, skilled staff using purified chemicals, not in an impure, oxygen rich, 
seashore environment. 
8) The Law of Mass Action (that chemical reactions move from high to low concentration), 
would have water hydrolysing any proteins formed, back to the original amino acids, which 
would then break down to separate chemicals.  A research team, at Barlian University in 
Israel, said that this complication would make synthesizing only one protein totally 
impossible at one chance in 10157.  They concluded that no proteins were ever produced by 
chance on earth. 
9) Not just a few, but hundreds of thousands of amino acids would have to exist long 
enough and know how to form themselves into correct sequences of complex DNA and 
proteins. 
10) Chemical compounds in living creatures were meant to be inside them, not outside 
them where they would be quickly destroyed. 
11) Without water loss, proteins cannot form in water.  Lab technicians do not use 
seawater or freshwater to prepare dead amino acids. 
12) It is well known that chemicals of life will decompose if oxygen is in the air.  Oxidation 
causes these amino acids to break down to individual chemicals again. 
“With oxygen in the air, the first amino acid would never have gotten started: 
  without oxygen, it would have been wiped out by cosmic rays.” 
(Francis Hitching, the Neck of the Giraffe” (1982), p.65).  Because oxygen will break down 
amino acids, evolutionists are forced into deciding that earth’s primitive environment had no 
oxygen, (called a “reducing atmosphere”), and that later on oxygen entered the atmosphere 
so that life could breathe. 
A “reducing atmosphere” could have had carbon dioxide, methane, hydrogen, ammonia 
and nitrogen. 
An “oxidizing atmosphere” such as now exists, has carbon dioxide, water, nitrogen and 
oxygen. 
Here are some reasons against a primitive reducing atmosphere: 

i)  If life evolved in a reducing atmosphere, it would immediately die from lack of oxygen.   
Plants would die from lack of CO2. No chlorophyll or food would be produced. 
ii) Oxidized iron (ferric oxide) occurs in early rocks, proving the atmosphere had oxygen 
back then. 
iii)  No ozone layer. With no atmospheric oxygen (O2), there would be no ozone (O3) 
either, which would allow solar UV light to destroy any life that may be formed.  
iv)  Deadly Peroxides. A reducing atmosphere would produce peroxides through 
photolysis of water, which would kill any evolving life. (Abelson, “Some Aspects of 
Paleobiochemistry” in “Annals of NY Academy of Science”, 69, 1957, p.275). 
v)  Water means oxygen. There is much oxygen in water and in the atmosphere. 
Electricity will dissociate water to oxygen and hydrogen. This disproves the origin of life 
by evolution.   
(R.T. Brinkman, “Dissociation of Water Vapour & Evolution of Oxygen in the Terrestrial 
Atmosphere”.  Journal of Geophysical Research, 74, 1969, p.5366).   
Do evolutionists think that ancient earth had no water? 
Conclusion: Evolution by spontaneous generation of life from chemicals could not 
occur with oxygen or without oxygen. 

13) There is more to a living organism than chemical compounds, proteins and fatty acids in 
a typical animal. There are thousands of very complicated, very different enzymes which 
scientists do not know how to produce. There are also massive DNA and other coding 
problems which no scientist has ever synthesized. 



14) One minute after an animal dies, it still has all its chemicals, proteins, fatty acids, DNA & 
codes, but it no longer has life. Scientists cannot produce life. How do they expect rocks 
and seawater to do so? 
15) Amino acids do not occur naturally in rich enough concentrations. For example, 
phosphorus is needed to form DNA, and nitrogen is needed to form amino acids, but 
phosphorus and nitrogen concentrations are too low in nature. 
16) Even if evolution could produce an animal, it would need its living food source made just 
as rapidly. 
17) Most evolutionists do not understand how complex life really is.  How could all these 
features happen by accident, when intelligent scientists cannot reproduce them by design 
in laboratories? 
i) Q1:  Have you ever tried to synthesize in a lab just one complex molecule found in an 

average tree?  The tree makes large quantities of it in hours, at room temperature and 
pressure, but intelligent scientists using high Temp. & Pressure cannot make some tree 
molecules in 1 year. 

ii)  For evolution to succeed, the total organic and cellular complexity of a species had to 
be invented by chance - and it had to do it fast-within seconds, or the creature would 
immediately die. 

iii)  A cell has a nucleus, which contains chromosomes, which contains genes, which 
contain DNA, which contains the genome (or gene pool of all a species traits).  A 
human adult contains about 100,000 billion cells.  DNA contains phosphate, 
deoxyribose and 4 types of bases called adenine, guanine, thymine and cytosine.  The 
number and order of these bases are unique for each species.  DNA divides at about 
1000 base pairs per second. DNA is a massive databank, with indexes, electrical 
polarity, and instructions when and where to switch between cellular processes.   

Q2:  What is the mathematical possibility of just one DNA molecule forming by chance? 
Answer:  An average protein may include 300 amino acids.  The DNA gene controlling this 
has about 1000 nucleotides.  There are 4 kinds of nucleotides in a DNA chain.  A DNA 
chain of 1000 links could exist in 41000 different forms (10600  forms). 
Q3:  How could random action produce the right combination out of 10600 possibilities for 
error?   
In addition, proteins, enzymes, fats, carbohydrates, etc would have to instantly form at the 
same time in an organism – and then be endued with life.  Without life, none of these raw 
materials, even if arranged in correct order, would function.  Then this “evolved animal” 
would need food, air, water, reproductive organs and a mate to propagate life. 
Consider this example: Each haemoglobin molecule contains protein with the correct 
sequence of 574 left-handed (L) amino acids.  In living tissues, the L form of amino acids is 
found.  In lab synthesis, equal amounts of left handed (L) and right handed (D) forms of 
amino acids are formed. There is no way to synthesize the L form in a laboratory by itself. 
18) Enzyme systems do not work in the body, until they are all there. Did all enzymes of 
an organism evolve at once? No way! 
19) Before advanced computers were developed in the 1970s, evolutionists could glibly say, 
“Given enough time and enough chance, living creatures could form from seawater and 
lightning.” Today, computer scientists can program into computers all the factors involved in 
evolving life and conclude that regardless of how much time was allotted for the processes, 
evolution could not produce life forms. 
The probability of forming 124 specifically sequenced proteins of 400 amino acids each is 1 
chance in 1064,489 ie:  1 with 64,489 zeros after it.  Hence it is impossible to randomly form 
proteins, DNA, amino acids or cells. 
 

8.  DID  HUMANS  EVOLVE  FROM  APE-LIKE  ANCESTORS? 
Evolution’s gift to mankind is the lie that we are just animals, only slightly removed from 
apes, with no moral standards, no laws worth obeying, no future, no hope & no God to 
comfort us in sorrow or death. 
From first grade of school, children are taught that we evolved from cavemen, their “proof” 
being supposed half-man/half-ape remains. 
Question:  Is it true that these skeletal remains have been found?  Is man really related to 
apes? 
Answer: a)  Man’s DNA is different from apes and monkeys. 
 b)  Man’s number of vertebrae are different from apes and monkeys. 
               c)  Man’s cranial (brain) capacity is very different from apes. Compare orang-utans 

and chimpanzees (275-500cc), gorillas (340-752cc), with man (1100-1700cc). 
 d)  Man walks habitually upright. Great apes do not. 
Question:  If man is the same as 1 million years ago, why did he only leave writings, 
buildings and artefacts since 3000 BC? 
Key:  Early civilizations were advanced, but occasionally, groups would migrate to new 
areas and for a time live in “stone age cultures” until they could build cities.  Cavemen 
wandered from warm to colder climates and chose to live in caves for a time before building 
homes in their new land. 
Diodorus Siculus (in 60 BC) wrote of primitive people living in caves along the shores of the 
Red Sea.  That both advanced civilizations and primitive cave cultures lived at the same 
time, does not prove human evolution from another species. This coexistence of advanced 
& primitive peoples occurs today. 
Question:  Were these bones belonging to human ancestors via evolution? Consider the 
following: 
1)   Neanderthals.  In 1856, workers blasted a cave in the Neander Valley, near 
Dusseldorf, Germany to discover limb bones, pelvis, ribs and a skullcap inside. Virchow, a 
German anatomist, said that the bones were those of modern men afflicted with rickets and 
arthritis, because of bowed legs caused by lack of sunlight. 

a) Neanderthals apparently lived at a time when there was not as much sunlight. The 
Ice Age came due to volcanic dust pollution worldwide which reduced sunlight. 
European weather at the time was cold enough to force people to stay in caves so 
they received even less sunlight. 

b) In 1973, H. Israel showed that modern humans living to extreme age develop 
Neanderthal features such as heavy eyebrow ridges and an elongated cranial vault 
(1600cc).  There is definite evidence that they were several hundred years old. This 
correlates well with Bible records in Genesis 11 of long human lifespans from the 
Flood to Moses. (Arphaxad lived 438 years, Salah 433, Eber 464, Peleg 239, Reu 
239, Serug 230, Nahor 148, Terah 205, Abram 175). 

c) In 1908 a Neanderthal skeleton was found in Poland, buried in a suit of chain armour 
not yet fully rusted.  (“Neanderthal in Armour”, Nature. April 23, 1908, p. 587). 

d) They had well developed art, culture and religion.  Most scientists agree that 
Neanderthals were just humans who lived in caves for a time. School textbooks have 
not yet caught up with this. 

2)   Cro-Magnon Man.  Some Cro-Magnon skeletons have been discovered since 1868 in 
France in a cave.  Some were over 6 feet tall, with slightly larger cranial volume than 
humans today.  Some were excellent artists.  They kept astronomy records.  They were 
normal humans, not apes, nor transitions from ape to man. 
 
 



Q1:  Why is it that each time, only one specimen is found?  Why not hundreds?  If these are 
our ancestors, there should be millions of such specimens. 
Q2:  Why are only small pieces of bone found for each specimen – never a complete 
skeleton?  The less that is found, the easier it is to make unfounded extrapolated claims for 
it. 
Q3:  If these bones are supposed to be “1 million years old”, why did they not decay in 
damp Europe, Kenya and China?  How could million year old bones possibly be found in 
damp earth? 
3)   Java Man.  Found by Eugene Dubois in 1891 consisted of a skullcap, a femur 50 feet 
away and 3 teeth some distance away.  Dubois assumed that: 
a)  All these bones were from the same individual, b)  They were 1 million years old, c)  So 
he told people it was “half human/half ape”, and called it “Pithecanthropus erectus” (erect 
ape man). Humans were found buried nearby. The small skullcap portion could fit a human 
or a gorilla. Most scientists think it was a human skull portion, but school textbooks still cite 
it as about 500,000 years old. 
4)   Piltdown Man, found in 1912, fooled the scientific world for 40 years until 1953 when 
Weiner and Oakley showed it to be a hoax.  Someone had put an ape jaw with a human 
skull, filed the teeth and stained them to appear as an ancient matching set. 
5)   Australopithecus, and Ramapithecus is the name given to some ape bones found in 
Africa.   
They are all apes.  Oxnard and Zuckerman concluded that Australopithecus is an ape, not 
human, nor a transition between the two. “Lucy” (an Australopithecus) found in Ethiopia in 
1975 had a chimp-sized skull (450cc) and “was surprisingly short-legged”.  (Time, 7 Nov. 
1979, p.68). 
6)   Nutcracker Man (Zinjanthropus) was found in 1959 by Lois Leakey in Olduvai Gorge, 
East Africa. 
Its jaw was much larger than its skull. This was probably another case of mismatched skull 
parts.  Its skull was ape-like.  Because tools were found nearby, Leakey decided it was half-
human.  A human skeleton was found above it in 1913.  In 1961, its skull was dated by the 
inaccurate Potassium-Argon method at 1.75 million years.  In 1968, the same skull was 
dated by the more accurate Carbon-14 method at 10,100 years.  Eventually Leakey 
conceded that it was just another ape skull. 
7)   Peking Man was found in 1927-1936 in a Peking garbage dump with thousands of 
animal bones. These human bones totalled 14 skulls, 11 jawbones, 147 teeth and a couple 
of small arm bone and femur fragments along with stone tools. These were human bones 
with smaller brain capacity (1000cc, which some people have today). They had prominent 
Neanderthal brow ridges, which some people have today. The openings of the skull bases 
had been widened and smashed, as if someone had wanted to scoop out the brains. No 
pelvis or ribs were found. All the skulls disappeared during WWII in 1941. In the 1950s, 
Ernst Mayr renamed them as Homo Erectus and grouped them with Java Man. 
Conclusion:  All these bones look only like ape bones or human bones, but never 
transitional forms. 
 
9. THE  MAN - ANIMAL  GAP   
Evolutionists say that man is just another animal because we have evolved from other 
animals.   
The Bible says that man is specially created in the image of God to have dominion over the 
animals.  Little is discussed about the differences betwen man and animals.  Consider these 
differences: 

1. Only man can benefit from accumulated knowledge passed on to the next generation as 
history. 

2. Only man is religious. 
3. Only man has an innate sense of morality, of right and wrong, of violated conscience. 
4. Only man makes and uses fire and tools. 
5. Only man produces art. 
6. Men sing, apes don’t. 
7. Only man communicates abstract thoughts in sentences, writes, invents and composes. 
8. Only man conceptualises eternity. 
9. Only man surrounds death with ceremony and funerals. 
10. Man is unique physically, biochemically, neurologically, postural with an upright heel-toe      

walk. 
 
How could these have evolved? Man is so 
far above animals that he could not have 
evolved from them. 
 
This graph shows how human lifespans 
dropped from about 900 years before the 
Flood to today’s lifespans after the Flood, 
as depicted in Genesis chapters 5, 11. 

 
 
 
 
 
 
 
  
10.   WAS  ANCIENT  MAN  PRIMITIVE  as  EVOLUTION  CLAIMS? 
Evolution pictures modern man as very smart, and ancient man as an unintelligent primitive 
animal-like creature.  This is flattering to the ego of modern man and makes evolutionists 
proudly feel that they are at the top of an advancing evolutionary chain.  But is this true?  
Was ancient man unintelligent?  Evolution incorrectly pictures ancient man as an ape-like 
creature called Australopithecus, Cro-Magnon, Neanderthal, Homo Habilis, Homo Erectus 
etc. who did nothing significant for 3 million years, then around 2500 BC suddenly began to 
build cities and be civilised.  Maybe man never was around for 3 million years if he left 
nothing behind to show for it. 
Archaeology shows ancient man as very intelligent, even able to do things that we cannot 
do today. 
Question: Why the sudden explosion of intelligence and culture around 2500BC? 
A. Because this represented early post-Flood civilisation. The pre-flood civilisation was 
destroyed in Noah’s Flood of 2418 BC, according to Bible chronology. 
Question: What about cavemen? 
A. Primitive tribes of men have existed in the past just as they do today.  They were not the 
first humans, but degenerate off shoots of mainline human culture.  
Job 30:5-8 discusses cavemen: “They were driven forth from among men..... 
To dwell in the cliffs of the valleys, in caves of the earth, and in the rocks.” 
Many ancient civilisations peaked in culture, but they were destroyed after violence, gross 
immorality, human sacrifice (abortion) and demonism (occult) appeared. 



Question: Where did Cain get his wife? 
A. He married one of his sisters. “Adam ...he begat sons and daughters”. (Genesis 5:4). 
 The law forbidding marrying a sibling was not given until Moses in 1500 BC. 
Question: How intelligent and capable was ancient man? 
A “Nothing will be restrained from them, which they have imagined to do”. (Genesis 11:6). 
Question: What artefacts did he leave to show his intelligence? 
1. Metallurgy.  “Tubal-cain, an instructor of every artificer in brass and iron”.  Genesis 

4:22.  
At the foot of Mount Ararat in Turkey, Russians have found hundreds of ancient ruined 
smelting furnaces for bronze, copper, tin etc. 

 Source:  K. Megertchian, Bible Science Newsletter, February 1978, page 3. 
 Some metal Egyptian artefacts of 2000BC have been electroplated with gold. 
 Source:  “Ancient Electroplating”, 1933 Annual Log, Scientific American Publishing Co., 

New York 1933, p.85. 
2. Corrosion Resistant Chinese Sword 
 Metal swords buried for 2200 years in a Chinese Emporer’s Tomb had been treated with 

a preservative that had prevented any corrosion.  These swords were alloys of tin, 
copper, magnesium, nickel, cobalt and 10 other elements. Source:  National 
Geographic, April, 1978. 

3. Diamond Tipped Iron Cutting Tools  
 “The sin of Judah is written with the pen of iron, and with the point of a diamond”.  

Jeremiah 17:1 (601 BC). 20th Century industry was not the first to discover diamond 
cutting tools. 

4. Printing a Book using Iron or Lead Letters 
 “Oh that my words were now written! Oh that they were printed in a book! 
 That they were graven with an iron pen and lead in the rock forever.” (Job 19:23,24). 
 Sceptics once doubted Moses’ (1500 BC) ability to write.  Here we see Job (maybe 

2000 BC) thinking of printing a book using iron or lead letters, which is what we use 
today. 

 The evolutionary idea that ancient earthlings were too primitive to develop technology 
on their own, gave rise to Erik von Daniken’s book “Chariots of the gods” where he 
suggests that superior aliens brought this technology to earthmen from outer space. 

 Solomon tells us that there is nothing new under the sun. “There is no new thing under 
the sun. Is there anything whereof it may be said, See, this is new? it hath been already 
of old time, which was before us. There is no remembrance of former things....”  
(Ecclesiastes 1:9-11). 

 He is saying that our new inventions have already existed in ancient times, and that we 
have forgotten them.  Job said a similar thing: “For inquire, I pray thee, of the former 
age....” (Job 8:8). 

 Long lifespans allow for greater knowledge. Job 12:12 says: 
 “With the ancient is wisdom; and in length of days is understanding”.  
 How much science, technology, commerce and industry could develop if people like 

Einstein, Getty, Isaac Newton, and Da Vinci, lived for 900 years? 
 If the Flood occurred in 2418 BC, this date compares well with man’s oldest civilised 

records going back to about 3500 BC. These ancient civilisations appear in an 
advanced state, without any trace of primitive generations leading up to them. This 
contradicts evolution. 

5. The Great Pyramid of Cheops. This is one of the oldest buildings on earth.  Imagine 
the engineering technology required to mine and transport such heavy stones (2 million 
x 21/2 tons each block), as well as have no movement in the foundation over 4000 years. 

6. Pyramid of the Sun,  near Mexico City is 216 feet high. 
 Its base is 720 feet x 760 feet (Cheops is 750 x 750 feet). 
 Some think that there may be 100,000 pyramids in Mexico. 
7. Mayan solar year. 
 The ancient Mayans of Central America calculated a solar year to be 365.2420 days 

long.  Only recently have astronomers calculated it to be 365.2422 days. 
 Source:  National Geographic, December 1975, v.148:6, P.783. 
8. The Piri Reis Map of 1513. 
 This map was copied from more ancient maps going back to before Christ.  The curious 

thing about this map is that it outlines the actual land coastline of Antarctica.  Today the 
south pole ice pack permanently covers the Antarctic coastline so that the land coastline 
is not visible.  Only in 1953 by modern technical methods was Antarctica’s land 
coastline charted.  How could they chart the coastline in 1513? Source:  Ancient Man: A 
Handbook of Puzzling Artefacts. W.R. Corliss p.88. 

9. Phoenician Language Stone in West Virginia USA. 
 This stone found in 1838, had Phoenician writing inscribed on it used in Spain before 

Christ.  How did it get to the USA? Source: “America B.C.” Barry Fell, Simon and 
Schuster, N.Y. 1976 p.21. 

10. Ancient Polynesians had colonised every habitable island in the Pacific Ocean by 
30 AD. 

 They knew how to navigate by the stars and by ocean currents.  Modern man had only 
discovered these navigation techniques recently.  These Polynesians had methodically 
covered over 15 million square miles of open sea. Source:  
National Geographic, “Polynesians”, December 1974. 

11. Easter Island. 
 The early Polynesians who settled Easter Island carved 

over 600 smoothly sculptured heads out of iron hard 
volcanic rock, some weighing 90 tons.  Most are 12 to 15 
feet high, one being 40 feet tall. How were they carved and 
moved several miles from their quarry? What was their 
purpose as they look over treeless plains? 

 “World’s Last Mysteries”, Readers Digest,1967, p.94. 
12. Solomon’s 3 Year Ship Voyages.  I Kings 10:22 in 1000 

BC. Solomon joined with King Hiram of Phoenicia to send 
ships on 3 year voyages to bring imports from distant lands.  Where did they go to?  
Was it Africa, America, or India?  If the Polynesians mastered the Pacific ocean by 30 
AD, why couldn’t the Phoenicians cross the Atlantic, which was a shorter distance? 

13. Ziggurat at Ur, about 2100 BC, in Iraq. The tower of Babel built just after the Flood was 
a pyramid or Ziggurat Structure. 

14. Ancient Ceramic Battery, in the Baghdad 
Museum.  This ceramic jar contains a copper 
cylinder suspended in the jar. This copper cylinder 
had an iron core inserted in it.  When grape juice 
was put in the jar containing the copper cylinder 
and iron core, it produced an electric current of 11/2 
volts. Ancient people used electricity because 
electroplated relics have been found dating back to 
2400 BC, just after the Flood. “Electric Batteries 
of 2000 Years Ago”, H.M.Schwalb, Science Digest, 
V.41, p.17, April, 1957. 



15. Giant Stones of Tiahuanaco in Bolivia. 
 In Bolivia, high in the Andes mountains at 13,000 feet, are the ruins of Tiahuanaco, 

containing massive stone stairways built seemingly to accommodate a race of large 
people.  Some walls are 16 feet x 26 feet x 1 foot thick. Other stones weigh from 10 tons 
to 100 tons each.  The stones were quarried and moved from 60 miles away without 
wheels or roads.  How did they do it?  

 Natives in the time of the Spanish conquistadors state that:“The great stones one sees 
at Tiahuanaco were carried through the air to the sound of a trumpet”.
 Source:“The Worlds Last Mysteries,” p.138 

16. 2000 Ton stone at Baalbek, Lebanon. 
 70 foot high columns at Baalbek dating from Roman times were quarried in Egypt, 

moved across the Mediterranean Sea, then over mountainous regions to Baalbek.  The 
foundation stones are much larger.  One stone measuring 14 feet x 16 feet x 66 feet, 
weighs about 2000 tons.  Even with modern equipment we could not move it. Source:  
National Geographic, April, 1985. 

17. 6000 Terracotta Statues of China’s First Emperor. 
 These statues of soldiers and horses cover 500 acres dating back to 200 BC.  Every 

soldiers’ face has a different expression.  Imagine the kilns needed to fire thousands of 
life sized horses. 

 This emperor, Chin Shih Huang Ti, codified China’s laws, standardised Chinese writing, 
and built canals and public roads. Source:  National Geographic, April 1978. 

18. Perfectly Preserved Woman for 2100 Years. 
 A Chinese noblewoman was perfectly preserved wrapped in 20 layers of fine silk.  Her 

skin is still pliable,  her hair was still firmly rooted in her scalp, and X-rays can identify 
her last meal eaten and internal organs.  How did they halt natural decay processes 
immediately, and for so long? Printed cloth was also discovered in her burial chamber; 
not painted, but printed. Gutenburg simply re-discovered printing in 1450. Source:  
National Geographic, May 1974. 

19. Glass lens from ancient Egypt was also discovered. 
20. Wooden carving of an aeroplane with a vertical tail fin, and streamlined wing design 

was tested and found to be aerodynamically ideal for mechanised flight. Ancient people 
may have used flying machines. Source: “Ancient man: A Handbook of Puzzling 
Artefacts”. W.R.Corliss, Vol.5, p.88, 1972. 

 
11. SCIENTIFIC  DEVELOPMENTS  UNKNOWN  TO  DARWIN, that Refute Evolution. 
Had Darwin foreseen the coming scientific developments, he would have seen his theory to 
be in error. These include: 
1. Gregor Mendel had not yet established or published his work on the laws of heredity 

and genetics, showing that characteristics passed from parent to offspring according to 
precise mathematical ratios. They do not derive by chance random processes in what 
Darwin called “blending inheritance.”   

2. First law of Thermodynamics stating that energy can neither be created or destroyed, 
was only just being developed by Joule and Lord Kelvin. This showed that the universe 
could not have created itself. 

3. Second law of Thermodynamics states that the universe is degenerating to more 
disorder. This shows that things do not of themselves become more organised with 
time, as evolution requires. 

4. Louis Pasteur was just beginning his famous experiments showing that all life comes 
from life, never from non-life.  

5. Mathematical laws of probability, showing that the chances of life occurring by 
chance are effectively zero, had not yet been applied to the theory of evolution. 

 The total probability of forming the proteins and DNA for the smallest self-replicating 
entity, given astronomically large quantities of reagents and time, is one change in 
10167,626.  This is 1 chance in 1 followed by 167,626 zeros. 

6. Molecular biology, showing that the cell is so enormously complex (like the entire city 
of Sydney), that it could not possibly have formed by chance, had not yet commenced 
as a science. 

7. The Fossil record had not yet been studied sufficiently for palaeontologists to be able 
to say, as they now do, that intermediate links between species do not exist. 

 Any one of these concepts or laws, if known to Darwin and the world in 1859 would 
have been enough to destroy Darwin’s evolution theory.   

 These 6 counter evidences show that evolution could not have taken place, while the 
fossil record shows that evolution did not take place. 

 Today, many scientists modify evolution in any way they can to get around the proofs 
against it. 

  
 Question: Why is evolution still popular? 
 Answer: Because of what the alternative involves.  If the Biblical account of Creation is 

true, then man has sinned against God, and there will be a Day of Judgment for sinful 
man for rejecting Christ as Saviour and Creator. Acts 17:31 says: 

 “He (God) hath appointed a day, in which he will judge the world in righteousness by 
that man (Christ) whom he hath ordained; whereof he hath given assurance unto all 
men, in that he hath raised him from the dead.”    

 
12.  BAD  EFFECTS  OF  EVOLUTION  
Human conduct is modelled on the philosophy that is accepted at the time.   
Few people realise the evil far reaching social effects of the Evolution theory. 
1) A New Code of Ethics. Evolution claims that people are just animals, so there is no 
right, no wrong, no morality, just the law of the jungle that the fittest, most ruthless, 
aggressive animals survive.  So by evolutionary reasoning, humans may behave ruthlessly 
or aggressively, or any way they please. It has given society a new code of ethics of 
survival of the fittest, might is right and the law of the jungle, which replaces God’s law of 
love and service.  Evolution claims that whatever enables the individual to survive is right 
and good for the individual and society, be it cunning or cruelty, cowardice or deceit.  
Huxley believed that it was cunning and ruthlessness (violence) that enabled man to evolve 
from the beasts.  The law of the jungle directs human progress, he thought. 
This twisted thinking has resulted in the increase of youth crime today. Evolution is the 
greatest curse in today’s education system. This supposed beastly nature of man leads to 
people behaving worse than animals, broken homes, increased divorce, increase in crime 
and violence, all resulting from the acceptance and practice of evolution. Jesus Christ on 
the other hand said: “By love serve one another”. 
2) Spread of Atheism among the educated masses. Evolution is atheistic, anti-Christian 
and anti-Bible. Evolution and Christianity are totally incompatible opposites.  If evolution be 
true, then the Fall of Man is false, sin is necessary to survive, Christ’s death and salvation 
are not needed. Millions of young people have lost their faith in God by studying Evolution 
theory.  Huxley said: “Evolution, if consistently accepted, makes it impossible to believe the 
Bible”.  Evolution leads a person to a state of defiance against God as Creator and Saviour. 
If evolution was true, then the Christian faith is a mass of error. Sin is not evil, it is only the 
method evolution uses to progress. Nietzsche said: “Neither crime, cruelty, sexuality, nor 



intoxication need be matters of shame or repentance”. To him, Christian morality was the 
chief obstacle preventing the emergence of a superman. Some foolish clergy endorse 
evolution through ignorance. 
3) On Western Culture.  Darwinism unleashed a moral holocaust on the world, teaching a 
most vicious set of moral principles that man is an animal and that the most successful 
animals are those that are the first to attack and destroy.  Darwinism broke man’s link with 
God and set him adrift in a purposeless cosmos, altering how men viewed themselves, from 
morally accountable creations of God to vicious animals accountable to nobody.  Evolution 
provides no uplifting standards, values or morality.  Darwinism is brutalising mankind today, 
by giving scientific sanction to bloodthirsty selfish desires.  Evolution has entered every 
sphere of behaviour, such as business, science, education and government.  The Satanist 
Anton La Vey, said that Satan gave him the message that, “We are only animals, and we 
should do as we please”.  This is evolution’s message.  In order to make atheists of 
everyone, Julian Huxley taught that the schools must be controlled by evolutionists.  
Evolution is the greatest curse in our education system.  Evolution is the social basis for 
intensified war, immorality, divorce and criminality, which has brought anguish to millions. 
4) Marxism and Communism.  Karl Marx who wrote “Das Capital”, the basis of 
Communism, saw Darwinism as a scientific basis for his theory of social progress.  Marx 
wrote to Engels on 16 Jan. 1861, “Darwin’s book is very important and serves me as a 
basis in natural selection for the class struggle in history.”  (C. Zirkle, “Evolution, Marxism 
Biology and the Social Scene”, 1959 p.88).  
Marx wished to dedicate his book “Das Capital” to Darwin, but Darwin politely declined the 
offer.  
Yeroslavasky, a friend of Joseph Stalin wrote of him: 
“Comrad Stalin began to read Darwin and became an atheist”. (Landmarks in the Life of 
Stalin,1940, p.8). Stalin killed millions of his own countrymen in World War II by confiscating 
the Ukrainian’s food. Evolution is a founding principle of communism.  Communists oppose 
and persecute Christians.   
Both Lenin and Stalin were ardent evolutionists, as are the Chinese Communists. 
5) World Wars I and II. Militarism is based on evolution.  Nietzsche, the German militarist 
and Haeckel helped lay the evolutionary foundations for German militarism which led to 
WWI and WWII.  Inspired by Darwin’s writings, they pioneered Nazi violence.  While Lenin 
and Marx applied evolution to the class struggle for supremacy, Haeckel and Nietzsche 
applied evolution to permit Germany as the “super race” to conquer inferior races.  Hitler’s 
book titled “Mein Kampf” (1925) meaning “My Struggle”, was taken from Haeckel’s German 
translation of Darwin’s phrase, “the struggle for existence”. Nietzsche, the German militarist 
extended Darwin’s principle of “survival of the fittest” to inspire his nation, as the “fittest 
nation” to subjugate the world by war. 
Hitler applied evolution, claiming that his German race with it’s superior intellect and Aryan 
blood was best fitted to survive and control the world.  He said: “The whole of nature is a 
continuous struggle between strength and weakness, an eternal victory of the strong over 
the weak”. This false theory led to his and Germany’s shameful defeat in 1945, thus 
showing the world that his philosophy was a lie, and proved the truthfulness of God’s Word: 
“The race is not to the swift, nor the battle to the strong”.  Ecclesiastes 9:11.  
Jesus said:  “The meek (not the aggressive) shall inherit the earth”. Matthew 5:5. 
Evolution influenced Hitler’s views on the master race, genocide and human breeding 
experiments.  (R. Clark, “Darwin, Before and After”, 1948, p.115).  “Mussolini’s attitude was 
completely dominated by evolution.  In public utterances, he repeatedly used the Darwinian 
catchwords while he mocked at perpetual peace, lest it hinder the evolutionary process.” (R. 
Clark, p.115).  

6) Racism.  The full title of Darwin’s 1859 book is:  “On the Origin of Species by Means of 
Natural Selection, or the Preservation of Favoured Races in the Struggle for Life”.  Leading 
racists have been evolutionists.  Darwin and Thomas Huxley were both evolutionists and 
racists:  “Looking to the world at no very distant date, what an endless number of the lower 
races will have been eliminated by the higher civilized races throughout the world”.  
(Charles Darwin, Life and Letters, p.318).  In the 1910’s, the war was against nations; in the 
1930s and 1940s, the war was against races, and in the 1970’s onward, the war has been 
against the unborn. “Whites are higher up the evolutionary scale than blacks” is a false 
claim of some evolutionary thinkers. 
7) Abortion and Crime. Evolutionist abortionists say to women considering an abortion:  
“Don’t worry, the foetus is only in the fish stage”. They rarely say how abortion increases 
breast cancer. 
According to evolution, there is no right, no wrong, no God, no devil, only evolution which 
makes all things right.  Murder, lawlessness, robbery, abortion, lying, cheating, hedonism 
and exploitation is acceptable to evolution.  By offering evolution in place of God as a cause 
of history, Darwin removed the theological basis of the moral code of Christendom. 

13.  DARWIN’S  MYSTERY  ILLNESS 
Darwin called his book “The Origin of Species” published on November 24, 1859, “my 
accursed book.”  He thought of himself as a Devil’s chaplain. 
His son Francis recalled him saying, “I never gave up Christianity until I was forty years of 
age.” 
In the year before publication he was rarely able to write for more than 20 minutes at a time 
without stomach pains.  He finished the proof in between fits of vomiting.  He said to his 
friend J.D. Hooker 10 days before the proofs were bound: 
“I have been very bad lately; one leg has swelled like elephantiasis, eyes almost closed up, 
and covered with a rash and fiery boils.  It was like living in hell.  In 1864 he wrote to 
Hooker:  “I suppose few human beings had vomited so often during the last 5 months.”  He 
lived in self doubt, fearing that he had devoted his life to a fantasy.  He was too sick to 
attend his book launch, or to attend the debate between Thomas Huxley and Bishop 
Samuel Wilberforce at Oxford on June 30, 1860, or to attend the awarding of his Copley 
medal in 1864. 
Darwin knew that his idea would destroy the faith of millions of people in God as their 
Creator.  But what if he was wrong?  How could he accept the responsibility of what effect 
his theory of “no accountability to God” would have on others?  Symptoms of his illness 
included vomiting, headache, giddiness, twitching muscles and spots before the eyes.  This 
is an anxiety-caused psychoneurosis. 

14.WHY  DO  EVOLUTIONISTS  HOLD  SO  STRONGLY to Theory so Lacking in 
Evidence? 
1) Some don’t want to be responsible to God for their actions. They don’t like God judging them 
for their sins. 
2) Sexual freedom.  “We objected to the morality because it interfered with our sexual 
freedom”.  (Aldous Huxley, “Confessions of a Professed Atheist”, Perspectives on the News, 
Vol.3 June 1966, p.19). 
3) A Way to hide from God.  “Darwinism removed the whole idea of God as the Creator of 
organisms from the sphere of rational discussion.”  (Julian Huxley). 
4) It will help destroy religion. 

 

 



15.  Carbon-14 Dating Assumptions 
Willard Libby (1908-1980) at the University of Chicago discovered the Carbon-14 dating 
method in 1946 to date remains of plants and animals.  It is summarised as follows: 
a) Cosmic rays enter earth’s atmosphere and collide with an atom to create an energetic 

neutron, which in turn collides with a nitrogen atom to produce a carbon-14 atom and a 
hydrogen atom. 

b) The radioactive carbon-14 atom combines with oxygen in the atmosphere, to form carbon 
dioxide, which plants and trees absorb and incorporate into plant fibres by 
photosynthesis. 

c) Animals and humans eat plants and take in carbon-14. The ratio of normal carbon-12 to 
radioactive carbon-14 in the air and in living things is constant until it’s death when it 
stops taking in new carbon. 

d) After death the carbon-14 decays with a half life of 5700 years while the amount of 
carbon-12 remains constant in the sample. By measuring the ratio of carbon-12 to 
carbon-14 in the sample and comparing it with the ratio in the living organism, the age of 
a formerly living thing may be estimated. 

Note: “Fewer than 50 percent of the radiocarbon dates from geological and archaeological 
samples in north eastern North America have been adopted as “acceptable” by 
investigators.” (J.Ogden, “The Use and Abuse of Radiocarbon” in the Annals of New York 
Academy of Science, Vol. 288, 1977, p.167-173). 
 
Assumptions and Errors in Radiocarbon dating: 
1. Atmospheric Carbon: For the past several million years, earth’s atmosphere is assumed 

to have had the same amount of atmospheric carbon that it now has. 
Answer: We know atmospheric conditions were different in ancient times, but we do not 
know to what degree this would invalidate ancient dates determined by C-14 analyses. 

2. Cosmic rays have reached earth in the same amount as that now. 
   Answer: Less cosmic rays would have entered earth’s atmosphere before the Flood due 

to the earth’s stronger magnetic field then and due to the water vapour canopy.  This 
would have resulted in less C-14 forming before the Flood than is being formed now, thus 
giving the appearance of greater age of pre-flood plant and animal specimens. 

3. Magnetic Field Strength is assumed to be constant.  This assumption is false, because 
earth’s magnetic field strength is decaying with a half-life of 1400 years.  A stronger 
magnetic field before the Flood would lessen the cosmic rays entering earth, lessen the 
amount of C-14 being formed, and give C-14 dates older than the true age. 

4. Amount of Carbon-14 at death is assumed to be known. 
Answer: How can we know exactly how much C-14 an organism possessed at death? No 
one can know this for sure. 

5. Water vapour canopy. If earth was warmer or contained more water in the atmosphere 
(caused by a water canopy, surrounding earth), then less C-14 would be produced, thus 
giving C-14 dates of pre-flood organisms older than their true age. 

6. Volcanic activity during and after the Flood would have blocked out much cosmic rays, 
thus reducing the amount of C-14 being formed.  Post-Flood organisms would have 
received less C-14 than those today, thus making those animals and civilizations appear 
to be much older by C-14 dating methods than their true age. With the passing of time, C-
14 levels would have increased until about 1000BC, where they would have been close to 
today’s levels. 
Key:  This is why radiocarbon dates back to 600BC correlate better with historically 
proven dates over the last 2600 years.  Discrepancies still exist since 600BC.  Prior to 
600BC, dates given by radiocarbon analysis begin lengthening out excessively. 

7. Loss of Carbon-14 from a specimen by the flood, rainfalls, oceans and below ground 
moisture will invalidate its C-14 age.  If there is less Carbon-12, there’ll be less C-14 in a 
specimen. 

8. Sunspot effect on C-14 production. 
i) From 1100-1240AD there was high sunspot activity (cool spots) giving less C-14 
production. 
ii) From 1420-1530AD and from 1639-1720AD there was low sunspot activity, no aurora 
seen, an increase in solar wind, and higher C-14 production. 

9. Libby’s C-14 Discrepancy.  Libby found a serious discrepancy at a certain point in past 
history that indicated his assumed build up of atmospheric C-14 was inaccurate. (‘Evolution 
or Degeneration?’, H.R Seigler, 1972, p.80-81).  Seigler suggests that the catastrophic effects 
of the Flood would explain this discrepancy along with the vast water canopy shielding 
earth from C-14 buildup.  Before 1600BC radiodating tends to go wild.  The Flood 
(2418BC) and abnormal post-Flood conditions explain this. 

10. C-14 Data points to the Flood.  Millions of plants and animals died during the Flood. 
We would expect that C-14 dating should produce many specimens that died at about the 
same time. 
In 1970, R. Whitelaw of Virginia Polytechnic Institute carefully compiled 25,000 C-14 dates 
from the research literature, of people, animals and vegetation. 
He charted his results which showed that deaths peaked at about 4500 years ago (about 
2500BC). 
This agrees well with the Bible’s date for the Flood as 2418BC.  15,000 out of 25,000 C-
14 dates peaked around 2500BC. (R.Whitelaw, CRS Quarterly, 7. (1970):56). 

11. Amino Acid Dating by Decomposition. 
Traces of amino acid still exist all through the fossil strata.  This means that no fossils are 
millions of years old as evolution requires. 

 
16.  Big Bang Baloney- EVIDENCE  DISPROVING  THE  BIG  BANG  THEORY 
Did the Universe begin with a super explosion of a small mass 10 billion years ago?   
Briefly, the following problems are observed in our solar system that defy the Big Bang 
explanation: 
1. Uranus and Venus rotate in the opposite direction to the other planets. 
2. Some planets have eccentric or tilted orbits. 
3. Some planet’s satellite moons move in retrograde (backwards) motion. 
4. Our moon has a lower density than earth. If it was thrown out from earth, it’s density 
would be more. 
5. The sun’s angular momentum is 1/200th of the planets. 
This small angular momentum makes it unlikely that the planets could be thrown out of the 
sun. 
Source:  “Unlocking the Mysteries of Creation”.  D.R. Peterson,  p.45. 
Big Bang theory says that a large quantity of nothing condensed by gravity into a single tiny 
spot and then exploded outward into hydrogen and helium to eventually form stars, 
galaxies, planets and moons. 
Question: What is wrong with this theory? A lot! 

1. Nothingness cannot pack together. 
2. There would be no ignition to explode a speck of nothingness. 
3. The theoretical explosion would fall back on itself giving a theoretical black 

hole. R L St. Peter, 1974. 



4. There is not enough anti-matter in the universe. A Big Bang would produce 
equal amounts of matter and anti-matter, but only small amounts of anti-
matter exists. (Asimov’s New Guide to Science, p.343). 

5. The anti-matter from the Big Bang would have destroyed all the regular 
matter. 

6. There is no way to unite all the outward rushing particles from the central 
explosion, because they would keep getting farther apart over time travelled. 
(See Novotny’s research). 

7. The particles would maintain the same speed and direction forever, with no 
way for them to begin circling each other as gas clouds.  Linear motion would 
not change to angular momentum. 

8. Neither hydrogen or helium in outer space would clump together, because 
gases on earth push apart, but never clump together.  Gas clouds in space 
expand, and don’t contract to form anything. 

9. Careful analysis has revealed that there is not enough matter in gas clouds to 
produce stars. 

10. If the Big Bang theory were true, instead of a universe of evenly mixed stars 
and galaxies, there would only be an outer rim of fast moving matter. 

11. There is not enough matter in the universe to explain the origin of matter and 
stars.  The universe is 100 times less dense than the Big Bang theory 
requires.  Where is this “missing mass”?  This too little matter could not form 
stars. 

12. The Big Bang would only produce hydrogen and helium, not the other 90 
elements. 

13. The nuclear gaps at atomic mass 5 and 8 make it impossible for hydrogen and 
helium to produce any heavier elements, because neither a proton or neutron 
can be attached to a helium nucleus of mass 4.  If it were not for this important 
“helium mass 4 gap”, the sun would radiate uranium towards earth.  There is 
no stable atom of atomic mass 5 or 8.  So a hydrogen fusion reaction (bomb) 
combines hydrogen to form deuterium, which doubles to form Helium 4 and 
stops there.  Hence a hydrogen explosion (even in a star), does not cross 
mass 5 gap (E.g. H=1.008; Deuterium=2.016; He=4.006; Lithium=6.939; 
Berylium=9.012; Boron=10.811, etc.). 

14. There are no first-generation stars (containing only hydrogen and helium) in 
the sky, which supposedly exploded to give second-generation stars, as the 
Big Bang theory requires. 

15. Random explosions do not produce intricate orbits of suns, binary stars, 
galaxies, star clusters, planets and moons. 

16. There are not enough supernova explosions to produce the heavier elements.  
We can see stars up to 15 billion light years away, but why are we not seeing 
many stellar explosions far out in space?  Because the Big Bang theory is 
wrong. The stars are doing fine. 

17. The most distant stars, which evolutionists date to the time of the Big Bang, 
are not exploding, and yet contain heavier elements. 

18. According to the Big Bang theory, older stars should have more heavy 
elements because they are continually making them. But all stars, from ‘young’ 
to ‘old’, have similar amounts of heavy elements  

19. Why do some stars spin backward to other stars?  The Big Bang theory can’t 
explain this. 

20. Why do stars turn?  Why do galaxies rotate?  Why do planets orbit stars?  
Why do binary stars circle one another?  How could super fast straight line 
motion from a Big Bang change to rotating and orbiting motion with angular 
momentum? 

21. Why is the universe so “lumpy” with galaxies grouped into galaxy clusters, 
which are grouped into larger super clusters? 

22.  Evolutionists claim that background radiation in space is the best evidence that the Big 
Bang   occurred as the last remnant of a Big Bang explosion.  This is wrong because: 
a) It comes from all directions except one direction being the Big Bang source. 
b) The radiation is too weak to fit the theory.  (Fred Hoyle). 
c) It lacks the required 2.7K black body spectrum required for the Big Bang theory. 
d) The spectrum should be a much hotter 100oK black body spectrum than its 2.73K 
spectrum. 
e) It is too smooth. 
Instead, this background radiation is what we’d expect from the billions of stars in the 
universe. 

23.  According to Big Bang theory, the further we look out into space, the further back into 
time we see.  This means that the furthest stars and galaxies should be the youngest.  
Yet research shows that furthest away stars are just like those nearby. 

24.  If Big Bang theory were true, all stars would be moving in the same direction, but stars, 
clusters and galaxies are moving in various directions opposite to one another. 

25.  Every star is redshifted to some extent.  The further a star or galaxy is from us, the 
more its light is shifted. Big Bang theory concludes that this proves that the universe is 
expanding outward from the source of the Big Bang.  They base this on the hypothesis 
that the “speed theory” of redshift is the only cause of the redshift.  (If light is travelling 
towards us, the wavelength is compressed or blueshifted.  If it is moving away from us, 
the wavelength is stretched out or redshifted.).   
Other explanations for this redshift are: 
a) Gravitational redshift.  In 1915, Einstein predicted that gravity could bend light and 
thus cause a redshift.  This was later proven correct.  As light travels towards us from 
distant stars, it passes other stars, which slightly slows the beam, causing its spectrum 
to be shifted towards the red. 
b) Second-order Doppler shift:  A light source moving at right angles to an observer will 
always be redshifted. This would be explained by the universe moving slowly in a vast 
circle around a centre. 
c) Energy loss redshift:  Light waves may lose energy as they travel across long 
distances.   
Big Bang theory maintains that the speed redshift is the only cause of the redshift, so 
they can say that the universe is expanding outwards as a result of the Big Bang.   
Speed redshift is not the only cause of redshift because: 
a) Nearly all stars and galaxies are redshifted.  If Big Bang theory really occurred, the 
universe would be rushing out from where the explosion occurred, not away from earth.  
If there was a Big Bang we could locate its origin by measuring redshifts. 
b) The closest stars and galaxies are the least redshifted. The further away a star is, the 
more would gravitational and energy loss redshifts slow it. 
c) Quasars strongly disprove the speed theory of redshift.  Some quasars have redshifts 
of 300% which equals speeds over 90% of the speed of light.  Some quasars have 
redshifts of 400%.   
Three quasars, according to the speed theory are moving faster than the speed of light.  
One quasar appears to be moving 8 times faster than light, which is impossible. 



26. Most binary stars circling one another are of different composition. Big Bang theory can’t 
explain this. 

27. Stars within globular clusters ought to be all crashing into one another if any nonthinking 
force brought them together, but they are not. 

28. Stars never get closer than 3.5 light years apart.  Would randomness produce this? No. 
29. Stellar evolution is non-observable.  Stars are not evolving in space.  Plants and 

animals are not evolving on earth. 
30. The sun would have to spin extremely fast to hurl off planets and moons, yet it rotates 

very slowly. 
31. Big Bang theory cannot explain where stars, planets and moons originated, nor how 

they arrived at their present precise, intricate orbits.  How could every moon be located 
at the precise distance to keep it from flying into or away from its planet, from a Big 
Bang explosion? 

32. Uranus and Venus rotate backward compared to all the other planets. The other 7 rotate 
forward. 

33. One third of the 60 moons rotate opposite to the rotational direction of their planets. 
Why? 

34. Our planets and moons are so strikingly different that they could not have originated 
from the same Big Bang source. “If you look at all the planets and the 60 or so satellites 
(moons), it’s very hard to find two that are the same.” (Ross Taylor of ANU Canberra, in 
“The Solar Systems New Diversity”, Richard Kerr, Science 265, 2 Sep 1994, p.1360). 

35. The chemical makeup of Earth’s moon and Earth are distinctly different, implying that 
the moon formed under different conditions. 

36. Nearly all of Saturn’s 17 moons are extremely different.  It has 3 sets of moons sharing 
the same orbit.  Some moons travel clockwise, others travel anti-clockwise.  The surface 
of Iapetus is 5 times darker on one side than the other.  Hyperion is potato shaped.  
Enceladus has an extremely smooth surface, whereas other moons are much rougher.  
Why?  Titan’s atmosphere is thicker than earth’s.   
How could all these moons originate by chance? 

Elemental Forces of the Universe. 
37. Gravity Force is perfectly balanced. 

a) If gravity were stronger, smaller stars could not form. 
b) If gravity were weaker, bigger stars could not form, no heavy elements could exist, 
only dwarf stars would exist, which would radiate light too feebly to support life. 

38. Proton/Neutron mass ratio 
The neutron mass can only exceed the proton mass by twice the electron’s mass (About 1 

part per 1000). 
a) If the proton to neutron mass ratio were less, atoms would fly apart. 
b) If the proton to neutron mass ratio were greater, atoms would crush together, quickly 
decaying into a neutron, positron and neutrino, thus destroying hydrogen, the main 
element in the universe.   
The Master Designer planned that the proton’s mass would be slightly smaller than a 
neutron’s mass, otherwise the universe would collapse. If protons decayed, the universe 
would collapse.  

39. Photon mass to Baryon mass ratio.   
If this ratio were higher, stars and galaxies could not hold together by gravitational 
attraction. 

40. Nuclear force holds an atom together. 
a) If it were smaller, there would only be hydrogen and no heavier elements. 

b) If it were larger, there would be no hydrogen but only heavier elements.  With no 
hydrogen there would be no stable stars, and no life. 
c) If it were 1% weaker or stronger, carbon could not exist, nor could life exist. 
d) If it were 2% stronger, protons could not exist. 

41. Electromagnetic Force in an atom binds negative charged electrons to a positively charged 
nucleus 
a) If it were smaller or larger, no chemical bonds could form. 
b) If the electron charge were 3 times larger, no element could exist other than 
hydrogen. 
c) If the electron charge were one-third as large, all neutral atoms would be destroyed 
by the lowest heat-such as is found in outer space. 

 
Conclusion: It would be impossible for evolution to produce the correct balance of these 
forces.  They were planned.  These 4 basic forces (gravitational, electromagnetic, weak and 
strong nuclear forces) differ so greatly in strength, that the strongest is 1040 times stronger 
than the weakest of them.  Yet Big Bang theory mathematics requires that all basic forces 
had to be the same strength before and just after the Big Bang Explosion occurred.  
Evolutionists cannot claim that these precise, delicate balances of forces occurred by 
“natural selection”, or “mutations”, for we are here dealing with the basic properties of 
matter.  There is no room for gradual “evolving”.  The proton-neutron mass ratio has always 
been the same.  It will not change.  It began just right.  There was no second chance.  This 
applies to all the other forces and balances in elemental matter and the laws of physics 
governing them. 
If you open a typical science book on astronomy, you will find theories about the origin of 
the universe and stars stated with great certainty to the public. 
By 1970, so much scientific data had repudiated the basic aspects of various cosmologies, 
that in April 1972, the top minds in stellar physics, chemistry and astronomy gathered at the 
Nice Symposium to resolve: a) How did the first cloud break apart and change into stars? 
b) How did the gas clouds whirl to form stellar objects to solve the angular momentum 
problem? 
c) How did the gas push itself into solids? 
d) How did the planets, with their present properties and solar distances form? 
If you attend such a closed-door conference, you will find worried men, desperate theories, 
scientific facts condemning these theories, a lack of alternative explanations, an 
atmosphere of hopeless despair in the face of unproven ideas, and no solutions or scientific 
experiments to alleviate the situation. 
Key: The problem is that evolutionists do not want the public to know that scientists cannot 
figure out how galaxies, stars and planets originated. 

17.  SCIENTISTS  SPEAK  AGAINST  EVOLUTION 
1) “In spite of nearly a century of work and discussion there is still no unanimity in regard to 
the details of the means of evolution”. R. Goldschmidt, “Evolution viewed by one 
Geneticist”, “American Scientist, Vol. 409, Jan 1952, p.84 
2) “Evolution is baseless and quite incredible”. (Ambrose Flemming, President of British 
Association for Advancement of Science). 
3) “Today our duty is to destroy the myths of evolution.  Some refuse to acknowledge the 
inadequacies and falsity of their beliefs”.  (Pierre-Paul Grasse). 
4) “Scientists who go about teaching that evolution is a fact of life are great con men, and 
the story they are telling may be the greatest hoax ever.”  (T.N. Tahmisian, Physiologist for 
the Atomic Energy Commission, quoted in Fresno Bee, 20 Aug. 1959). 



5) “The naked truth and human nature travel in opposite directions. We have no reliable 
evidence as to the evolutionary sequence of invertebrate phyla”. (John Bonner, American 
Scientist, June 1961, p.240). 
6) “Throughout the past century there has always existed a significant minority of first-rate 
biologists who have never accepted the validity of Darwinian claims.” (M. Denton, “A Theory 
in Crisis”, 1986, p.327). 
7) “When men cling to an outworn theory with no supporting evidence, the problem is within 
the mind.”  
(Norman Macbeth, Darwin Retried, (1971), p.77). 
8) “The German zoologist, Berhard Rensch (1959) provided a long list of leading authorities 
who have been inclined to the view that macroevolution (changes across species) cannot 
be explained in terms of microevolutionary processes (changes within species), or any other 
currently known mechanisms.  These dissenters cannot be dismissed as cranks, 
creationists or vitalists, for among their ranks are many first-rate biologists.”   
(Michael Denton:  A Theory in Crisis (1985), p. 86). 
9) “Science positively demands creation”.  Lord Kelvin. 
10) “The theory of evolution is a scientific mistake.”   
(Louis Agassiz, Harvard Univ. Professor, ‘Evolution or Creation’ (1986) p.139 by H. Enoch). 
11) “Evolution not only conveys no knowledge but it seems to convey anti-knowledge.”  
(Colin Patterson, Address at the American Museum of Natural History, 5 Nov. 1981). 
12) “That a theory (of evolution) so vague, so insufficiently verifiable ….has become a 
dogma can only be explained on sociological (not scientific) grounds.” (G.R. Taylor, Great 
Evolution Mystery, 1983, p.232-3). 
We need to stop letting this sacred cow (of evolution) walk through our halls of science.   
 
Key:  Scientists are disadvantaged by holding to evolution, because they try to make 
everything fit the theory of evolution, and ignore the mass of evidence which does 
not fit evolution.   
Darwinism is a belief in the meaninglessness of existence. 
13) “Evolutionism is a fairy tale for grown ups. It is useless.” (Bounoure, La Monde et La 
Vie (Oct. 1983),  Director of Research at the National Centre of Scientific Research in 
France). 
14) Darwin in his later days became aware of the lack of real evidence for his evolutionary 
speculation and wrote:  “As by this theory, innumerable transitional forms must have 
existed, why do we not find them embedded in the crust of the earth?  Why is not all nature 
in confusion instead of being, as we see them, well-defined species?”   
(H. Enoch, Evolution or Creation (1968), p. 139). 
 
CONCLUSION:  Reject evolution as an unproven, unscientific, dangerous lie. Questions to 
ask an evolutionist: 
Q1: How does evolution occur? Answer: By beneficial mutations giving rise to a new 
species. 
Q2: Give some examples of beneficial mutations that have given a new species? I can’t, 
there are none. 
Q3: Then why do you believe a theory when there are no examples of it happening? 
Q4: If evolution has not been proven since 1859, why do you believe and trust it? 
Q5: Did man sit around and do nothing for one million years, leaving no records, artifacts or 
buildings, then suddenly, around 2,500 BC build the pyramids? 

Note: Evolution by random processes cannot occur due to the lack of “information” which is 
needed to direct unintelligent systems! A computer cannot run without software. God put 
intelligence into life. 
Source: “The Evolution Cruncher”, Vance Ferrell, 2001. evolution-facts.org  Phone 

931-692-5777. 
 


